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1.  Which word is the antonym of “Arrival” ?
(A) Conquer (B) Enemy (C) Departure (D) Welcome

2. Choose the correct punctuation mark for the sentence.

“Have you seen my school bag”

(A) B & © @ (D)

3.  Identify the appropriate collective noun for bees.
(A) herd (B) swarm (C) group (D) bunch

4.  What does “hang up the boots” mean ?
(A) Place the boots for cleaning (B) Kill someone by hanging

(C) Retire from active life (D) Peace after a war

5.  Identify the synonym of “Accurate”.
(A) Total (B) Pedigree (C) Sincere (D) Correct

6.  Which is the correct spelling for an annual day-date list ?
(A) Calandar (B) Calendar (C) Callendar (D) Calender

7.  Fill in the blank :
Yasmin on paying the bill for her whole group.
(A) requested (B) promised (C) suggested (D) insisted

8.  Which word in the following list is a Verb ?
(A) Run (B) Black (C) Faster (D) Human

9.  Which single word would mean the same as underlined portion of “The vaccine made the

person resistant to infection from Covid-19 Virus”.

(A) Immune (B) Healthy (C) Doctor (D) Medicine

10. Identify the preposition in :
The man is sleeping on a cot.
(A) on (B) man C) is (D) the
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11. Which kingdom of India had influence extended to Southeast Asian region ?
(A) Chauhan (B) Rajput (©) Gupta (D) Chola

o

11. ORI (P AFET deR ufFFel-7[7 afext Siesicsl [ge &fem 2

(A) oA (B) dIG7® C) v (D) e
11, EF-sF-¥ TR S60E SRS (PR AT O] TS 2 2

(A) 51> (B) «r&7® ©) ¢ (D) e
11. RA =9 TASEl Qe -GS TEa STEetay e TRaei! gFE el 3 2

(A) e (B) ToA (C) T (D) =
11. ¥Rd & 9 T &1 g9 feqor-qd TfimE & o o ?

(A) e (B) ST € T (D) =
12.  Which of the following Muslim commanders did Mula Gabharu fight with ?

(A) Mir Quasim (B) Turbak (C) Iltutmish (D) Abeidullah
12. FRFRe (@ e EHivifes [ees 6 e Ia i 2

(A) =< (B) o (C) TTgfig (D) AR
12, SIGR CFIF PRTI IR 105 ol e J7 IFERMRE 2

(A) TRFOW (B) TH® (C) ZTgehm (D) TEEER
12.  HoT MH'E 91 TREMN §R WY GHHH HHEYRTEES See! TS THA ?

(A) R wifaH (B) & (C) SoIqaHre (D) 3eIgeeTe
12. Hen My A f=fafed § 9 fea gEede St 9 SR &l ?

(A) TR e (B) T+ (C) FegdtHw (D) gl

13.  Which of the following has the NITI Aayog replaced ?
(A) Competition Commission of India

B) Staff Selection Commission

C) Union Public Service Commission

D) Planning Commission

13. FeGRe @GR 33 Tife S or/e 39 (=202 2
A) OIS YrocIToT S
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13.

13.

13.

= =

oA @O IS et dfegion T 2
(A) oRTen Afeifars! SISl

(B) FOIT o Sttt

Q) EUR GRS

(

)
D)

TETATE B S&i = SIRRET NITT SR g 2

A) eI HHTE 3T 3t

(
(B) I foeieheA a1
(
(

Fifq s 3 fr=fafea d§ 9 forme o foan €2
(A) ¥R gfaeast ST

(B) HHERI =& AR

(C) H¥ ik Har A

(D)  SISHT TR

14.

14.

14.

14.

14.

Which of the following is the Capital City of Chhattisgarh ?
(A) Raipur (B) Ranchi (C) Bhagalpur

Rl Ted (@ Bfexioes Il 527 ?
(A) IRI (B) <ot Q) SIS

MA@ 2fexolea A *zq 2

(A) T (B) =i (©) ShlEefE
TR B o1 SRS TSI ?

(A) TR (B) THfa (C) IR

frafafad 8 9 SF-91 ST S TS § 2

(A) TIH (B) T (C) AR

Dehradun

15.

15.

Alexander (the Great) was from which ancient kingdom ?
(A) Persia (B) Byzantine (C) Macedonia

IEARCTSIT L 25 Ie7 ST 2
(A) & (o1m)  (B) Reifew Q) fbreifaa
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15. OERSISE (T2W) @ L5 F0ed oo 2

(A) =T (B) SIRCErGIEA © cibelE (D) SICBII
15. TSGR (T 32) 371 e M o9 gIei-HH ?

(A) IRYT BRI (B) fasmfen (C) W= (D) &A'THH
15. To&et (WRM) e I |med § o1 ?

(A) ®RH (B) dftsifed (C) TSI (D) 3Temd
16. Which of the following countries does Assam share international border with ?

(A) Thailand (B) Bhutan (€) China (D) Nepal
16. RS (@F4T (™R G SPTN SIAG IR TR SIS [ S8 ?

(A) e (B) G (C) b= (D)  GIoie
16. 0% TERS @FF @R A0 SPT SES [0 TR SIATWIE 2

(A) 2EEe (B) O Q) b= (D) AT
16. 99 SRS SATEH FEISRR e e ?

(A) oS (B) (©) = (D) e
16. o fr=fafaa o @ fag <o & WY STauieda HT e i § 2

(A) =S (B) (© (D) Turet

17. The Upper House of the Parliament of India is called :
(A) Lok Sabha (B) Rajya Sabha (C) Vidhan Sabha (D) Vidhan Parishad

17. WS T Mol (R
(A)  (eTRTS] (B) SlETel (C) faw sl (D) TR ifzm

17. SRS ALE SHIFCE 67 5 ¢
(A) @ISl (B) TSl (C) R 7ol (D) W ffzzm

17.  YRAMH SHSH TSl @ | AR S ?

(A) 'w' gl (B) TSI @ (C) faum & (D) faum aftug

17. TGS F S TS i el Sl @ ¢
(A) Tk gl (B) U™ GHI (C) faum g (D) faum 9itwg
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18. Which of the following words is NOT in the Preamble of the Constitution of India ?

(A) Fraternity (B) Dignity (C) Modesty (D) Liberty
18. WRERS &R =% Seq AR AR TR 2

(A) SI9TEK (B) mi € Fw (D) el
18. NI (I *[A (0 SRS FRRAE B[N (72 2

(A) alew (B) mi € Fw (D) el
18. TRMEM F¢ WG YRAM Siafg ThRATETe 21 ?

(A) s (B) HH-HTHH (C) TSR (D) sEifE|
18. Trefafed & § F9-91 w8 9Ra & Hfaem &t g&ae § 71 82

(A) == (B) i (C) fagar (D) T
19. Which mountain range passes through Delhi, Haryana, Rajasthan and Gujarat ?

(A) Shivalik range (B) Borail range

(C) Satpura range (D) Aravalli range
19.  (FIICH! ~oletl frall, RITIATI, Srergie o< @eioa ST #1907 TolCR 2

(A) Frife sl (B) <wigst Al

(C) A7 R (D) SRR e
19. (@ Ao ffa, 2, e g3 ERIeea N9 e (o 2

(A) fraifers oo (B) Rzel “foral

(C) o7l A= (D) SIRRE! ARior=at
19. TEMETE S 96 SIS | feeeht, TREm, TSTE™ ST TeRIds) aReniS! ?

(A) Terenferer greimT w1l (B) SRISE IS W

(C) HeqU TNIH |k (D) ST sl i
19. HHA-G gdaq SEern foee, giEmm, Tereerm iR TR ¥ B ol ¢ 2

(A) Torarfes geiqHTen (B) @I FeHTeA

(C) HAYS! TecHIe (D) S qEqHTl
20. Which of the following districts of Assam is in the Barak Valley ?

(A) Hailakandi (B) South Salmara-Mankachar

(€) Chirang (D) Morigaon
20. FEERe @R o [T Tororre ShES ?

(A) = (B) Wl (o1l - AR

(C) oA (D) wfRReife
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20. fCRT & (@@ P IAF SAGIT SRFS 2

(A) DT (B) W SIETEI - NG

(C) foan (D) wfHaite
20. STEEE Fd TS st SEsTE ?

(A) BETRIS (B) @Il HITHRI-HHRTSR

(C) fax (D) wfaTE
20. o9 H1 frfafad # § HA-91 e 9w =el # 72

(A) SRSt (B) Ty TeTHRI-HAIh=R

(C) fam (D) HRE
21. Who was the first Vice Chancellor of Gauhati University ?

(A) Nabin Chandra Bordoloi (B) Gopinath Bordoloi

(C) Kamalakanta Bhattacharyya (D) Krishnakanta Handique
21. ARG RefRmetes edememe! THAGR (ie e 2

(A) 9 " IS (B)  CaoNsTiiel qqwea

(C) T SHIHR (D) T AWCS
21. MR ReRmeTem dew Som & faem

(A) 9 v IS (B)  CaNsTimiel qamcet

(C) ITARRE OB (D) JFREIIC AT
21. AR JEeata fifafe ereTe ffan d9mm ?

(A) R =% R (B) T SRt

(C) HHATHRI W= (D) TN TS
21. TETRR! favafaee™ & qem Ferdfd S 9 2

(A) e =g SRS (B) Ty RGeS

(C) ARl e (D) FoTR ek
22.  Which instrument is used for measuring atmospheric pressure ?

(A) Hydrometer (B) Altimeter (C) Barometer (D) Thermometer
22, JIRYNGFS B GRACE (PR TG 921 91 27 2

(A) =G HEE (B) IfofiR Q) &ITRoR (D) «rRGR
22, AN BI9 SARCR G (I g 7L A 2

(A) TEEIRGHE (B) SIFGfGE (C) IR (D) 2ATHRGR
22. I SAYSH ARTUSART ARYTIE! AT ?

(A) BESHIR (B) eraifefieRr (C) &R (D) oA 'THER
22. SHEAE TOE 1 WY & AT foRg Ui o6t STEnT TR S § 2

(A) TEEHX (B) TR (C) SR (D) eI
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23. Ali Aye Ligang is a festival of which community ?

(A) Khamti (B) Mishing (C) Karbi (D) Dimasa
23. el S AN (PN TR BT 2

(A) e (®) fife © =R (D) feur
23. IS S 6 @R TRMIER T 2

(A) A (B) fafog ©) = (D) T
23. anfer e fommen oo eifif wre ?

(A) @mfd (B) fufd (C) =nifdl (D) femmm
23. o7el U form fohe e 1 @R © 2

(A) Tt (B) fafdmm (C) el (D) femmm
24. What is the main component of a glacier ?

(A) Lava (B) Salt water (C) Ice (D) Rain forest
24. R 24 Toimie i ¢

(A) =TSl (B) ST e (C) [T (D) Il
24. SR 24 TAWE FT 2

(A) =TSl (B) FRNE & Q) [T (D) IR
24, SREBSHI RIS Tfegarn 11 ?

(A) @ (B) wfad (C) =R® (D) 3T& SRA
24, TR I YA TRH AT ?

(A) e (B) @ Ul (C) h (D) oS =
25. How many countries does India share land borders with ?

(A) Six (B) Seven (C) Eight (D) Nine
25. ST (Y (7T e AN o I 2

A) = (B) S (C) = (D) =
25. TS (=T AP SIRCSF Fe 31 ACACE ?

A) = (B) e (C) 6 (D) =
25. LIEGIRIGEES ‘E»IQ{WI[ olgld m AT ?

(A) TFT (B) WA & (C) ¥H <A (D) HHET
25. R foha <90 & TN LT HIAT TR HLdl § 2

(A) ®® (B) @ (C) 3me (D)
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26. What was the former name of Karbi Anglong district ?

(A) Mikir Hills district (B) Lushai Hills district

(C) Cachar Hills district (D) West Naga Hills district
26. IR =i o o9 1w & wiifeet 2

(A) FfRsq oty ot (B) iz »iFey &

(C) IR 7k fee (D) =If¥5x Fa siifey fEmmt
26. I ORER (ST LS 1 F o 2

(A) s sifer ceemt (B) =PI ARy cerel

Q) T 2y (& (D)  if*6s1 Wil #{iFey (@t
26. i e fSenf feeify g1 7mE ?

(A) TafRT T e (B) qure feed e

(C) =R feed fSem (D) ErTs AT feew fret
26. RIs AT TSIt 1 el A R o1 ?

(A) TafR e e (B) TR U fSre

(C) TSR e et (D) Uf¥=m Arm e e
27. McMahon line separates which two countries ?

(A) Afghanistan and Pakistan (B) Myanmar and Bangladesh

(C) India and China (D) Vietnam and Thailand
27. (I ACIL (T G4 (I 7J2F F(F ?

(A) SRR i AfezH (B) TR S QIO

(C) ©FS W= 5N (D) SN IR ABCeTe
27. SRR SR (I G0 OGS SIeTvl FECR 2

(A)  SFeESE G] AAREE (B) SRR G QUGN

(C) SRS @R 5 (D) o™ 3 Eemie
27. HHTEA TGAR 99 TeTRRE! a2

(A)  SAEME ST qIfRE (B) TR SR SicAlay

(C) ¥Rd AN == (D) FRaT™ AR Agee
27. HHARA @ fohA <1 I A ST Hdl © 2

(A)  AHMEM TR uifehear (B) R iR FiT@Rw®

(C) ¥R IR <= (D) fooram iR omgeie
28. Kathakali is a dance form of which State ?

(A) Gujarat (B) West Bengal (C) Kerala (D) Himachal Pradesh
28. TR (FILA ST GF O] <Rl 2

(A) TG (B) “if¥osa (C) = (D) fa=iibet aion
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28. FARH (T A TOICHEI 2

(A) wTAG (B) ~if<psiaer Q) e (D) fesIibet 2o
28. HUHAA I THSIT HHEE ?

(A) TN (B) EHTE STTE (C) e (D) feureat g
28. HUHA fhE T 1 T ®9 B 2

(A) TSR (B) Ufy=m wa (C) *a (D) femma wew
29. “Gobha Raja” is the titular king of which community ?

(A) Ahom (B) Mishing (€) Khamti (D) Tiwa
29. “colrel S@i” (@I TEMRE S I 2

(A) IR (B) ffm ) Afs (D) feat
29. “calrel AE” (W TRV TN e 2

(A) IR (B) ffbe (C) =S (D) fem
29. ‘T IS A1 e BIRM HeTed’ O S ?

(A) ™ (B) faf§ (C) @mMfd (D) faen
29. ‘‘Tieq TN’ SR YR ST AHYRY TS 2

(A) R (B) Tufm (C) Tt (D) faen
30. Which country is known as the “Cockpit of Europe” ?

(A) Switzerland (B) Belgium (C) Spain (D) Portugal
30. WRERS @4 (™R “TTEIAT FHT” Fo Sl AR 2

(A) [IERCETS (B) (R@ATGI (C) iz (D) “rgaia
30. NI & O “LTRIAT TG I @IS 2

(A) TSR (B) (Rl (C) iz (D) (oGl
30. o BEwE! ¢ gstuf wedie e fafeE 2

(A) FeolRere (B) s © == (D) TG
30. o 1 1 AT T HiU HEl W S ?

(A) fasree (B) dfestaH (C) ¥ (D) gdma
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31. Which of the following sea passages connects Asia with Europe ?

(A) Suez Canal (B) English Channel

(C) Panama Canal (D) Strait of Malacca
31. [sfeRe @EGH Moy iR TTEIPR IS A FE 2

(A) DS Qe (B) & Qe

(C) oAl e (D) ST lefeTt
31. WIOA (I THoI @il € THHIAE TG IFCACR ?

(A) IS A (B) Efoml Bilcevat

(C) oAl e (D) el leffeTt
31. TEEM 99 et S T SR SIRuE geie 2

(A) Gus IR (B) sferer Samm

(C) U SR (D) HIATHI BT-GSTTa
31. frefafed § @S9 o1 9t 9nf wfvmn S 909 9 Ssiedr € 2

(A) TS TR (B) sfiemr 7=

(€) YA A= (D) WISl SICTSHEHE
32.  Which community of Assam has “Choklong” system of weddings ?

(A) Bodo (B) Dimasa (C) Mishing (D) Ahom
32. SPTR (FI TRMITS TR’ 2LE el sgfoe =7 ¢

(A) el (B) for © fafx (D) Sl
32. PG (P WIS [0 “ (51 #1afe qeaeg 2

(A) @l (B) T&aIm (C) e (D) I
32. STEMM o g = Eferst i ar ?

(A) IT (B) fewran (C) fafg (D) MW\
32. oTHW % forq W™ # =i’ @t foamg gomett € 2

(A) (B) feum (C) fufsrm (D) 3™
33. Kurseong is a hill station in the state of :

(A) Sikkim (B) Arunachal Pradesh

(C) West Bengal (D) Nagaland
33. FGI I IETT G 2AE S ¢

(A) ol (B) SI=elb STl

(C) o (D) weMteTs
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33. SRR #=G ZAT @F Ay 2

(A) fifes (B) SRFeIbE 2lTnel

(C) AfE=e (D) isTleTies
33. pfdAleT IS B W& |

(A) fafsrm (B) TUTEA YW

(C) IFE T (D) TS
33. AT T T F T fed BIHA T

(A) fafsrm (B) TUTEA YW

(C) dfem ama (D) IS
34. Which of the following rulers had ascended the throne at Delhi ?

(A) Chand Bibi (B) Rani Ahilya Bai (C) Rezia Sultana (D) Rani Laxmi Bai
34. TSRS (eI =1 et Picapime i i ¢

(A) W &R (B) [T =itzew A% (C) (@fe@l peveRl (D) [T EEHI Al
34. FCEA (IR *PTe el Bt S e 2

(A) v [ (B) AMiemEmi Ax (C) S Ewei (D) AT SR Al
34. TRMEMA o« GEAMRAT ool TSfEgrEe 51 'SHE ?

(A) =< fafs (B) UfoT aAfgean ame  (C)  Xform gear (D) Tfor wiewt =g
34. frefafaad § 9 & 91 o fSoe 1 TR sfeT o ?

(A) i St (B) Tt sfgen s (C) X gearn (D) T At =8
35. Which dynasty ruled the longest in ancient Assam region ?

(A) The Ahoms (B) The Barmans (C) The Koch (D) The Sutiyas
35. 25 SPT JETF (i A<*{2 A e *(19 Fiafee 2

(A) R (B) <l C) b (D) oI
35. (IR MG AIDT ST ST AN T *o FCAfee 2

() SR (B) T © &b (D) pfea
35. 9 qSIhIC ST HAFHICTe S e §T Qemaid ?

(A) 3E'HTHER (B) EHA®R (C) HEBR (D) Ffa®R
35. WM 316H &5 H fhe USE 3 ol 3Afesh wHg e e o ?

(A) erm (B) A (©) == (D) gfrn
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36. What is the introduction to Constitution of India called ?
(A) The Preamble (B) The Preface
(C) The Introduction (D) The First Page
36. oo MR SFET S+ & I 1 =W 2
(A) AT (B) =mareal
(C) #ifww (D) =2 7B
36. SIRCSH FRAR SATICE F @0 &7 2
(A) UABRE (B) <=
(€ e (D) e =2l
36. WM Gfefoe IE®RARE! Al gl ?
(A) G RRAA (B) ®RAMA
(C) IR (D) &fY faeg
36. RA % WIGHM %1 JfFehT I T FeA ¢ ?
(A) &I (B) U=
(OVIEL (D) et 7S
37. Which of the following is not a criterion for citizenship of India ?
(A) Acquisition of Territory (B) Buying property
(C) Naturalization (D) Descent
37. RS Az @0 oiRes A Mewld w7 2
(A) g wrfaaz (B) ife &
(C) eRplorael (D) IHE
37. WIOF (G SRCSS TSI A7es 7 2
(A) Tee kg (B) Fif€ T
(C) FreiFFe (D) 3xie
37. WRA( ATRIRES HA=1 TR s Mifer T 2
(A) BIM AR (B) M WHW SEH
(C) BT HFT (D) ThIeR
37. frafafed #§ § & @ 9RG 1 ARG 1 AHES & 8 2
(A) & 1 TR (B) Hufd Tl
(C) YThfdRHI (D) @9
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38. Which kingdom did Sati Sadhani belong to ?
(A) Koch Kingdom (B) Ahom Kingdom
(C) Dimasa Kingdom (D) Sutiya Kingdom
38. TSI AL (P T IS AN WlfesT 2
(A) (I Srey (B) SIlCAN ey
(C) fomm rey (D) oI rey
38. TSI A (I A0 fore™ 2
(A) (I <rey (B) SIICAN ey
(C) TGl wrey (D) few ey
38. Wi W& S el TASHTHA 2
(A) w9 IS (B) 3T&'H TSl
(C) feurn T (D) gfe=n TSl
38. Edl WiEM! forE T 9 Helferd off ?
(A) B TA (B) 3TRM A
(C) femmn == (D) gfaan T4
39. Who was the first President of the United States of America ?
(A) George Washington (B) Abraham Lincoln
(C) Thomas Jefferson (D) Benjamin Franklin
39. SCIRF EAEF 4N GO (e wNifeet 2
(A) o A5 (B) R ferew
(C) AR (ST (D) @I &FFhw
39. WA ISAITT 2N AMGolfs & foe 2
(A) T GG (B) IR forze
(C) A (TP (D) @G FE>W
39. SRR Sgere Ffafe gerRATRE |RHEM 2
(A) TS afdfed (B) 3Tome™ feferd
(C) I SHRET (D) ST Shehferd
39. g T5T AHRHT & qUq Tgafd i & 2
(A) SISt af¥iTes (B) 31oeH feieh
(C) oT9H ST (D) SifHA Shepfem
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40. Identify the southernmost river amongst the following :
(A) Indus River (B) Godavari River
(C) Brahmaputra River (D) Cauvery River
40. RS 7MY 2/l SAGIZOCE wiHwe SRFS 114 el 77 |
(A) Trpaal (B)  (WRST il
(C) F=sjg i (D) PICEST Tt
40. TN TraRIewE W& (PRI F(Co Al frees w2
(A) Trg T (B) (oS! Tt
(C) =g i (D) JES! Tl
40. SIS SRR SHE S fam -
(A) fayg (B) TSR
(C) TR < (D) ShTSRY <A
40. frefefaa 3 | Tl ol 76 it ve=H |
(A) fag = (B)  TiGTeRY &t
(C) oI &t (D) T S
41. The sum of the present age of the father and the son is 60 years. After 15 years, the father’s age
will be twice that of the son. The present age of the son is :
(A) 10 years (B) 25 years (C) 18 years (D) 15 years
41. 719 S 7/g TG TR (NI 60 TF | 15 T F21=0 g I297 7j@d T919 1@el 29| 9j@q IO I
[Ee¥
(A) 10 9= (B) 257 (C) 187 (D) 159
41. orol € 7J(aa IS TER (@9TA 60 IR | 15 T #1F o T891 7J18 WO awed 20| 7J7ad IS I3
e ¢
(A) 103= (B) 253 (C) 183= (D) 153
41. TferETere fon SR fRdeentT S SSermEan 60 €| 15 SERA 3 fawf seien fresatd
T STTeTH | STIeRaTed RHert et e ?
(A) 10 9ER (B) 25 ¥R (C) 18 9ER (D) 15 ¥R
41. e 3R g3 1 I T 1 AR 60 I8 © | 15 94 a1 et S 31y G ot 3T 9 SR et | g Y adEe
SR ¥
(A) 10 =d (B) 257ad (C) 18 = (D) 154
42. Findmif 2% 265X 2 g
-
(A) 5 (B) 3 © 8 (D) 7
12, fi 22X 265X 2% _ 12, (o m S el e
=
(A) 5 (B) 3 © 8 (D) 7
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m 6 —4
42. m st 9 Tl 2 X25X2 —pl2
=

(A) 5 (B) 3 ©) 8 D) 7

m 6 —4
42. m g 9 2 X25X2 =12
=

(A) 5 (B) 3 © 8 (D) 7

m 6 —4
42. fz 2 X25X2 — 512 A m I FIT
=

(A) 5 (B) 3 © 8 (D) 7

43. Two numbers are in the ratio 3 : 4 and their sum equals 49. The two numbers are :
(A) 16, 33 (B) 18,31 (©) 21,28 (D) 24, 25

43. GG 95! 741 3 : 4 TIIOO (R TiF PROF [@91we1 (20249 | AT 45! T ¢
(A) 16, 33 (B) 18,31 (C) 21,28 (D) 24,25

43. 75 AN 3 : 4 AT SN(R IR I @916 21 49, TR 46 247 ¢

(A) 16, 33 (B) 18,31 (C) 21,28 (D) 24,25
43. THEA SFNTHIN TSURT 3 : 4 R foaRf SSEmmE=T 49 | ST Hi==n Sem -
(A) 16, 33 (B) 18, 31 (C) 21,28 (D) 24,25

43, U HEAT3:4%F U H € SR SR AMT49T | I T F&AW |
(A) 16,33 (B) 18,31 (C) 21,28 (D) 24,25

44. (—1)°+(-1)° equals :

(A 1 B) -1 C 0 D) -11
44. (—1)°+(—1)° 3 I (27 3

A 1 B) -1 C 0 D) -11
44. (—1)°+(—-1)° g AN 3

A) 1 B) -1 ) 0 D) -11
44. (—1)°+(—1)° T 7 fegT -

(A) 1 B) -1 C 0 D) -11
44, (—1)5+(—1)6H AN ¥ :

(A 1 B) -1 C 0 D) -11
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45. The value of /1849 is:

(A) 33 (B) 43 (C) 53 (D) 63
45. /1849 I W (X(Z ¢
(A) 33 (B) 43 (C) 53 (D) 63

45. /1849 < Wi« 2% ¢

(A) 33 (B) 43 (C) 53 (D) 63
45. /1849 T #mMI -
(A) 33 (B) 43 (C) 53 (D) 63

45. /1849 FIHM T:
(A) 33 (B) 43 (C) 53 (D) 63

46. 40% of 60 when added to 60% of 40 would result in :

(A) 40 (B) 48 Q) 60 (D) 64
46. 603 40% I 0O 40 T 60% (A5 FRC TATA =J

(A) 40 (B) 48 (C) 60 (D) 64
46. 60 93 40% GF AL 40 GF 60% (9 FACH TETA 2 ¢

(A) 40 (B) 48 (C) 60 (D) 64
46. 60 7 40% @i 40 7 60% S <TSTersan ST :

(A) 40 (B) 48 Q) 60 (D) 64
46. 60 HH40% AT 40 H ¥ 60% H Sre W URomy 9red 2T -

(A) 40 (B) 48 Q) 60 (D) 64

47. Addition of two Roman numbers XIV +1V equals :

(A) XXV (B) XVIII (C) XIX (D) XX
47. Bl QNI IR @oreet XIV + IV (202 ¢

(A) XXV (B) XVIII (C) XIX (D) XX
47. 7o @SN A XTIV +1V @2 (@97 ¢

(A) XXV (B) XVIII (C) XIX (D) XX
47. HI"I'}I LHIA \5<|"|r\71‘-ll XIV+IV@ QISTISTSAT HT HIFIH ?

(A) XXV (B) XVIII (C) XIX (D) XX
47. < AT HEmsH w1 A XV +1V € :

(A) XXV (B) XVIII (C) XIX (D) XX
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48. (x2-3x—4)+(x+1)="? (x#-1)

(A) x—4 (B) x-3 (€ x-2 (D) x-1
48. (x2-3x—4)=(x+1)="? (x#—1)

(A) x—4 (B) x-3 (C) x-2 (D) x-1
48. (x2-3x—4)+(x+1)=? (x#—1)

(A) x—4 (B) x-3 <G x-2 (D) x-1
48. (x2-3x—4)+(x+1)="? (x#-1)

(A) x—4 (B) x-3 <C) x-2 (D) x-1
48. (x2-3x—4)=(x+1)=? (x#—1)

(A) x—4 (B) x-3 C) «x-2 (D) x-1
49. The fractional form of the recurring number 5.121212 .. .is:

4 5 517 o 57 .-

B "5 ® 5 © % ®) o9
49. (STesfe AN 5.121212 . . . T SR FAI (202 2

N 7 o 517 o 57 .-

B 5 ® 5 © 5 ®) 5
49. 9O M 5.121212 . . . GF AR A 8

N 7 5 517 o 57 -

B "5 ® 5 © % ®) g9
49. SEABTE SARSH 5.121212 . . . (4 s@re@r=<r 781 -

N 7 5 517 o 57 .-

B "5 ® 5 © % ®) g9
49. STl WA 5121212 . . . 1 TS T €

N 7 I o 3V o 37

B 5 ® 5 © 5 ®) 5
50. The total interest accrued on a Principal of I 1000 over 1 year at compound interest of 10% per

annum compounded 6 monthly, is :

(A) % 105.20 (B) 102.20 (©) 10250 (D) % 105.50
50. ifS 6 WET T b % T 217 FCe1 T2 10% b&Fq(a o T X 1000 S 1 T899 37 &l (=1 9

o oAfe (207 8
(A) % 105.20 (B) ¥ 102.20 (C) % 102.50 (D) % 105.50
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50. 1 IR & EA T 1000 97 TAF AR 10% @i AR @S 6 M1 bagfacs MajEre o sl
o5 ¢
(A) ¥ 105.20 (B) ¥ 102.20 (C) ¥ 102.50 (D) ¥ 105.50
50. 1000 T GrEmE sERIR 10% 8K 1 SR sREs gg fog, Jf aneem ge@t 6 i @@ -
(A) % 105.20 (B) ¥ 102.20 (C) % 10250 (D) ¥ 105.50
50. Y T 1000 W 199 H 10% Ufd a9 o Fehdfs oS T 6 HITHH Fohdlg oS Sed R Ad Fel Al
g
(A) % 105.20 (B) ¥ 102.20 (C) % 10250 (D) % 105.50
51. If the Minute hand of a clock traverses an angle of 180°, the angle traversed by the Hour hand
during the time is :
(A) 20° (B) 5° (C) 10° (D) 15°
51. 3 T «OIF [T Bl ©iteT 180° (Pl So@N (I, (S0 GTF IS WG 0] Gte Sfod w1 (el
(Zz s
(A) 20° (B) 5° (C) 10° (D) 15°
51. M @b qfba WG F61 180° (el SIS FC, O G2 AR M IBE ORI =21 Siom™ 91 (@l
A ¢
(A) 20° (B) 5° (C) 10° (D) 15°
51. e fafte smefern i 180° @A STerTRl, Sl STREN-2r of §H1d el @ |1 STeraHA ?
(A) 20° (B) 5° (C) 10° (D) 15°
51. afe fheht =St ot faee &t g2 180° o1 IV erdl §, A1 39 SR He i Fg §RI ST 71 IV T
(A) 20° (B) 5° (C) 10° (D) 15°
52. The diagonal of a square is 10 cm. The area of the square is :
(A) 100 cm? (B) 50 cm? (C) 64 cm? (D) 48 cm?
52. &I 359 Ffq (@1 10 (5., | IR (Fazeet (2= 8
(A) 100 ¢5.f.2 (B) 50 (.fa.2 (C) 64 v.fi2 (D) 48 (5.2
52. &35 qefcwRcam ¢ 10 @A | 3sfcFalba Fifer == ¢
(A) 100 @1.f.2 (B) 50 @12 (C) 64 (L2 (D) 48 Gifu2
52. HHE S @' gi@st 10 9.4, | o suify swifern -
(A) 100 9.f.2 (B) 50 &.fa.2 (C) 64 9.2 (D) 48 &.fa2
52. TS o ol faeRvl 10 § €1 o 1 &9 © -
(A) 100 G2 (B) 50 |2 (C) 64 HH2 (D) 48 |2

Paper-1/ A 23 P.T.O.



53. The sum of any two integers is :

(A) always a non-zero positive integer.
(B) always a non-zero negative integer.
(C) always either a non-zero positive or a non-zero negative integer.
(

)
D) always either a non-zero positive, a non-zero negative integer or 0.
53. TG 901 S1e AR (91T 2

(A) T B! S ST S L 7T |

(B) I GBI SH T S FL] 2T |

(C) M G TH) LAISIF SN IF T T FLY| 2T |

(D) WA GF ST LG, G S AT S AN A 0 RS |

53. (X GG 9 {oPR4R CAlafeet ¢
(A) T GO ST LIS AT |
(B) W @D SI-* elSIF 2ol |
Q) % T GO T L IF | S-H AT AT |
(D) %I 27 4B T[] LIS, G S A= oJef7227t A *[+7 |

53. SIGSTT B T STRSHIN STSTerRT :
(A) SicTEs ARE ' A8 HSTEe T ST |
(B) SiccTesll ARG’ A€ SHE o1 T’ ST |
(C) SiccTEsl ARG’ 7E HTE TSTeal AlfoRg’ 78 SFE o T’ ST |
(D) SiecTEal ARG’ 7S TASTa TSTed Tfed’ 98 M@ o1 W' SHfSH TR TSTeel anferg’ |

53. foregl <1 quifeni o1 3 :
(A) H T TR GAHE qolieh Bl € |
(B) TN Uk TR-I ThRIcHS qUlieh Bl |
(C) THIM 1 M T TR-T[ HAIHE AT Teh TR-I[ THRIHS OTeh 2Ial & |
(D) THIM A1 @ T R-F[ ¥, Teh TR-IFT THRIHH qUlish, 41 0 Bl B |
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54. The remainder when 2° is divided by 5 is :
(A) 0 (B) 6 © 2 (D) 4
54. 2095 (3 299 ST A1 O 29 2
(A) 0 (B) 6 © 2 (D) 4
54. 20 (5 Gl o] 0T SAKE AT ¢
(A) 0 (B) 6 ©) 2 (D) 4
54. 20 5 S TSl AR TG STe
(A) 0 (B) 6 ©) 2 (D) 4
54. <& 26 &1 59 fauifoa foran €, 91 I9%a BT ©
(A) 0 (B) 6 ©) 2 (D) 4
55. The square of a smaller number is subtracted from the square of a larger number and the result is
equal to the difference of the larger and the smaller number. The sum of the two numbers is :
1
(A) 0 B © 1 (D) 2
55.  (3PITN 45! FRAE BIEICHR 9579 #I]1 FRCHE 579 Wi [RCor SR FeAisnst A2 1H19 AL i =7 | AR
YOI G (207 ¢
1
(A) 0 B © 1 (D) 2
55. > JTSF RN 357 (ACF SCEF0 FUed AR 397 Kol F1 27 93 TR 2 G Fhed ALK
AT AN 2SN | AR 707 (FoiTe] 24 ¢
1
(A) 0 B 3 © 1 (D) 2
55. WY A AN sifThm A frfae st sefel o s, faf sea o e o e
AT Wl T 1 S JE S ST
1
(A) 0 B 3 © 1 (D) 2
55. fo=i < Gemst § 9 S8 W & av 99t W & av 9 SeE Sl § iR ufiony Sl demed & SR &

SRR BT ¥ 1 S Tt 1 ®

(A) 0 ® © 1 D) 2

Paper-1/ A 25 P.T.O.



56. The sum of the odd numbers 1, 3,5, . . ... upto 15 terms is :
(A) 225 (B) 125 (C) 169 (D) 196
56. SFAMANL, 3,5,..... T15 51 #ICeT 0 (AoIeT (202 ¢
(A) 225 (B) 125 (C) 169 (D) 196
56. SRPIRAN1,3,5,..... 15 5 #I =17 (is T (@ioreet 203 8
(A) 225 (B) 125 (C) 169 (D) 196
56. oS AN, 3,5, . . . 15 foeme faafq g -
(A) 225 (B) 125 (C) 169 (D) 196
56. 1,3,5..... afe foem Hesii &1 15 91 qeh 1 a1 §
(A) 225 (B) 125 (C) 169 (D) 196
57. The LCM and HCF of two numbers are 24 and 4 respectively. If one of the numbers is 12, then the
other number is :
(A) 20 (B) 8 ) 10 (D) 6
57. WOl MR N ST 9071 TLAGFCT 24 Dk 4. ARANETF GOl IW 12 2 (ST AW 7R T 8
(A) 20 (B) 8 (C) 10 (D) 6
57. Wb IR FIALY. G SIS, IAGCH 24 G 4. G0 TR 12 20 ) AL ¢
(A) 20 (B) 8 ) 10 (D) 6
57. HFA STAMTHTRRM T.37.91. TR <3791 o1 WY 24 IR 4 | i STARTH HHLT 12, T STARTHRT -
(A) 20 (B) 8 ) 10 (D) 6
57. T GO 1 ATIAH THYEE IR SAH T ShAS: 24 34 ¥ 1 Af T Hem 12 ], @ g Wen
X
(A) 20 (B) 8 (C) 10 (D) 6
58. Let all the months of a year is of 28 days. If January 1 falls on a Monday, then April 28 will fall
on a:
(A) Friday (B) Sunday (©) Monday (D) Saturday
58. AR (IR T (T 95! I/ TR W 28 e & =1 AM 1 SRS W00 CIRRN 2, (9% 28 «fems
(Bl ®9 ¢
(A) STFAF (B) @R (C) IR (D) =
58. 43 Ix@F 9 A 28 Tweeid | I 1 Simifd (TR 230 (3 28 @fes 203 ¢
(A) ST (B) @ (C) @IEE (D) ===
58. THAM W1 S SR MHsT ST 28 AH’ 9@l | WfE 1 SIaREfe SaeR Trerr o7sa, 28 Tfyeranta @1
ST ?
(A) gHeR (B) e (C) AR (D) R
58. oMk U o9 & @eft wfew 28 fedi & B €1 Afg 1 S Il AR Iean €, O 28 ST W IS
(A) RN (B) @R (C) EHaR (D) AR
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59. If mis a digit and the number 46 m 23 is divisible by 9, then the digit m is equal to :
(A) 1 (B) 0 ©) 5 (D) 3
59. M m @S B! OE Bk 46 m 23 FRANCG! 9 (I KO 2, (SCT m I T T3 = ¢
(A) 1 (B) 0 © 5 (D) 3
59. M m oMafod 4B oF 2 R 46 m 23 AT 9 7= [rOTEy 27, SR m TET AN ¢
(A) 1 (B) 0 ©) 5 (D) 3
59. < m 3T HH WERTHT SR 46 m 23 STATHET 9 S TS, STecll of STASTHET S -
(A) 1 (B) 0 ©) 5 (D) 3
59. A m T FUNCH I Tk i § I H&A 46 m 23,9 § 93 €, @ 3 m TR T
(A) 1 (B) 0 © 5 D) 3
60. A garden has p numbers of trees. Every tree has q number of branches, every branch has r number
of sub-branches and every sub-branch has s number of leaves. The total number of leaves in the
garden is :
(A) ptqtr+s (B) pq-+trs (€) pgr+s (D) pqrs
60. (I ¥ RS p (Fiol e Wez| AfSTeiol LS q FRUE =i, AGTH! *1AS r FAE TN S
ASTH! ToMIIATS s A i1 ISl Oz | AfARTS 24l FHYY Areq AR (20 ¢
(A) p+q+r+s (B) pq-+trs (C) pqr+s (D) pqrs
60. I JME p AT N2 IR | 2O AN q AL *141 AR, 2T =N ¢ AT GoF TR G7Q
fSfG TP s FLAE #{TOl TR IS (B AT FRL| 27 ¢
(A) p+q+r+s (B) pq-+trs (C) pqr+s (D) pqrs
60. HY foemeniar o p SH S| SHITal SHETE HH q T[T <, ST HThHal 3T JH r I fhdl & TR
HIARIHeN ST~ THHmEe T s foeme €1 of fosmenfiare Tiod foerg € 2
(A) ptqtr+s (B) pq-+trs (C) pgr+s (D) pqrs
60. T S H TS ol WA p ¥ | YA TS H S H WA q Bl €, Tk I H SIS ht A ¢ Bt
T IR g Iueman H uftEl s §E@ s Bt § | i § ufadi e 9en i
(A) p+q+r+s (B) pq-+trs (C) pqr+s (D) pqrs
61. The first modern Olympic Games was held in :
(A) Athens (B) Paris (C) London (D) Berlin
61. =N YT SEAIF (U1 F'© SRfre (2w ¢
(A) @™ (B) (g (C) @ew (D) aIfefq
61. A ST Sfei(~ie el wHfoe = 3
(A) e (B) mifs (C) = (D) aifefq
61. gt fffaa o1 'fefrden seEemHET @1 STEH ?
(A) T (B) ufw (C) wved (D) e
61. W Mk Aefash Tl Fal e fhd T 92
(A) U™ (B) uR« (C) A (D) wfcA
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62.

62.

62.

62.

62.

Which of the following statements is incorrect ?

(A) Thomas Alva Edison was deaf.

B) Apple is related to discovery of gravity.

The brightest planet as seen from earth is Venus.

The chemical symbol for sodium is Sd.

(A)  AZ TSl Gfhe &S wifee |

(B) il TR SITEIRT GICO ST TS Az |
Q) =|fRTT ~™t ol BBIRSCT Tegat AZhl O |
(D) =CARR IR BECo! (22 Sd |

oA (i Kol o 2

(A)  TurT SETel «fSo afed fogem |

(B) 7@ HpReel SRR AL T5iFo |
(C) & S| (A Wl FRGR Teged 22|
(D) AT AT 2SF 281 Sd |

TETETE BT ofsl forgjferdn o 2T ?
(A)  UH ST TEEA T S |
(B) NI HSH HIAAREE 3TUa fRemet S < |

(C) Y U9 JgAMHE JeINE Iafigs Sigd 78 |

(D) gfeamfT aEmEfTes fefafemn sd |

frefafad § 9 SH-91 ®e Ted § 2
(A) ofag 3Tea Tfed ol 9 |

B) ¥ 1 HoHl TEeahyl il @ 9 ¥ |

C) YAl ¥ <@ M ATl Fe¥ THehie Ug I & |
(D) Wifeam 1 TEEAH Fdieh Sd T |
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63. In a family, the sum of the present ages of the father, mother and the only son is x years. Aftery
years, the sum of their ages will be :
(A) 3x+y years (B) 3 (x+y)years (C) x+y years (D) x+3y years

63. <5 ARTETS oIy, Ty ST GFNG 7]TF T IPTLI JJ (FIF1 1 2T |y T 7S (O ETEIRFT IRIPTZI
I (SFA T ¢
(A) Bx+y3I=F (B) 3 (x+y)I=R Q) x+yI=R (D) x+3y3I=F

63. I AR GFG oISl TSl G GG (G TS TR N9 1 IR | y T2 217 OITR INER (Horee
PG
(A) Bx+yI=H (B) 3 (x+y)I=R Q) x+y=A (D) x+3y 3=

63. M@ 99 7 @ forr, o TRy fremsent siet 519 ¢ SER |y SR 39 fodRr sEif
HEICHIERIEICIRES
(A) 3x+y dER (B) 3 (x+y)dER (C) x+ydER (D) x+3y dER

63. Teh IRER H fid, A SR Sehalld sie Sl SxHM 3T &I AN x 9 © |y a4 o 91G, Ik 3T 1 IR BT
(A) Bx+y T (B) 3 (x+y)ad (C) x+y=d (D) x+3y a4

64. In which field did Bhogeshwar Baruah excel ?
(A) Athletics (B) Swimming (C) Badminton (D) Football

64. (SIS TIAZ (FICHI (Fae Alwi el #lie TRl 2
(A) @B (B) MceR (C) @D (D) Foe

64. COIPR TN (I (/T 2NV 2
(A) SIACEOH (B) Meix (C) IeT (D) Foe

64. VTR A1 ool fIhMTE STRET-HIEH ?
(A) THAfTF (B) WM& (C) wsfi=d (D) e

64. AR F%eT 7 fhy &3 H Ipt= yewH fohar ?

(A) Tifead (B) Rt (C) wefied (D) eaid
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65. The Ramcharitmanas was written by :

(A) Kabir (B) Veda Vyas

(C) Adi Shankaracharya (D) Tulsidas
65. IO o= S| ST (2R ¢

(A) = (B)

(©)  =ifit siczaITS (D) wemmE
65.  FIAGHONT (=12 e 3

(A) =W (B)

() i ==mR (D) GERImR
65. THIRaEERE! R ferRAwE e ?

(A) HIR (B) g =M

(C)  3nfe ishrem (D) FoAfae™
65. THARGEE TS9 foran = o ¢

(A) HER (B) € =™

(C) 3mfe e (D) qerdie™
66. In which Continent is the Amazonian Rain Forest found ?

(A) Europe (B) North America (C) Africa (D) South America
66. SINGHT I (FHL TS SHES 2

(A) TT@EA (B) TwwERF (C) wfE (D) Wi SR
66. SISIGH MBI (P T SRZS 2

(A) ToE (B) T&wwiwRE (C) wfEw (D) Wi S
66. STHSH 3TN 3T 96l TRRAEE ?

(A) T (B) W -smfem  (C) 3Mftheh (D) G - STHREH
66. STHSH &t i o9 e TRTE § §?

(A) F9 (B) UG HR@R  (C) ST (D) sferor s
Paper-1/ A 30



67. Which of the following is responsible for converting milk to curd ?

(A) Actinomyces  (B) Lactobacillus (C) Fusobacteriota (D) Malassezia

67. NN O (o1 Folle 9 (e RIS (@R Sk 929 31 2
(A) GfF=INEGR (B) (R (C) FRWCERGI (D) SCHie

67. IR (I GUCF WBCS HATEEE &) Wil 2
(A) oOifS@mEP™  (B) eURGRIPES  (C) FEIRGIFGREE (D) sHiefeiem

67. TR BT go ] MEEE! el el ?
(A) Tl 'ArsaY (B) IR 'afqamH (C) FHeHIE'a (D) wewisE

67. ¥ HI & H sger & fo fFrefafed § & a0 R €2
(A) TS (B) dwRSTgTH (C) WEEFEIRER (D) WS

68. Origami is the art of paper folding that originated in :
(A) China (B) Korea (C) Japan (D) Cambodia

68. oG ©ie FI9 Fo1 WM Tesife bt (e (2feet ¢
(A) BN (B) (ifexl (C) @lsE (D) JcFifeal

68. RN =1 «Ffo Flae ©fe e 17 Tesife el ¢

(A) b (B) I (C) wiol= (D) caiw
68. ST T YWMY o foetrs o nfagan 1w sfErsE |
(A) =M (B) ohiTal (C) SIUH (D) k% 'Tea

68. HTTSI T i sl SNRAHT <t 3cafa 59 oo 1 g8 off
(A) == (B) whIfta (C) S (D) shalfean
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69. Near which town is the Da Parbatia gate located ?

(A) Tinsukia (B) Tezpur (C) Silchar (D) Barpeta
69. (I 5ZFF TS 7 ALS T (OIFe SRIFS 2

(A) fefpsrm (B) (oG (C) i (D) I«CoMB!
69. W ALSIHI A (I *IZEF F(Z SAFS 2

(A)  TomgRm (B) (&7 (C) Tema (D) IR
69. T A @ ST T AR Wi g ?

(A)  fargfen (B) dSR (C) Toer=R (D) SR
69. T Tafaan i fore v & U feea 72

(A)  fargfen (B) dSR (C) THer=R (D) U
70. What is the currency of Indonesia ?

(A) Ringgit (B) Dinar (C) Rupiah (D) Shilling
70. YRR J@F % F 2

(A) e (B) T=lm (C) = (D) fifere
70. SRR @ F 2

(A) fafre (B) fu (C) ozl (D) fRifere
70. 3= g @i =2

(A) Rfm (B) feir (C) w= (D) fufd
70. ST 1 g1 91§ ?

(A) R (B) <R (C) wftrn (D) ferfefn
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71. Which country is known as the “Land of Rising Sun” ?

(A) China (B) Japan (C) New Zealand (D) Indonesia
71. (R O TR S O sl SRIeTe 2

(A) B (B) G ©) fTefEers (D) Breiefe
71. IR O “TARI AR ol AeE Ao 2

(A) B (B) G ©) fTefeeme (D) ErwIEmR
71. & TREE!  GH ST g’ B I8 2

(A) =M= (B) A (C) frefsers (D) ="Afga
71. 9 90 S AW F TH Y SIS 2

(A) =M (B) S (C) =Iiets (D) TR
72. Rabindranath Tagore was awarded Nobel Prize in Literature for :

(A) Ghare Baire (B) Gitimalya (©) Gitanjali (D) Gora
72. (IO 6T A I SIFE ARG R 61 e F_fs 2

(A) WEIARE (B) Moy C) Meigl (D) cotal
72. AL IR AT (T 2R A IFEER @ 2403 T ¢

(A) WEARE (B) Moy Q) Meigl (D) con=l
72. ST AT YAARE Tl ATE A’ e B STl 2

(A) T (B) ferferern (C) frdredt (D) T
72. TEEAY SR FI e Hfa & fau wifecr # Fod R § i foran 7 o ?

(A) =S (B) THifHTe™ (C) Trarsital

(D)

TR
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73. The highest gallantry award of Indian military during war is :
(A) Maha Vir Chakra (B) Param Vir Chakra
(C) At Vishisht Seva Medal (D) Ashoka Chakra
73. T&d ANT© TSR AN iz [ ARD J19 J01 (202 ¢
(A) TYIvF (B) 7% T4 b
(C) wfs RS @Rl *ws (D) SR b
73. TR AN SIS AT AfETF A g 7T 29 ¢
(A) TR (B) *RNIFbE
(C) wifs RS Rl (Iws (D) SICH{IF b
73. TTEEI-HHE YRATR SRS BRI SHTEA FRIS T s :
(A) weIfeR =15k (B) wRH foR =k
(C) fq fafered Fan Aqw (D) AT =k
73. I§ % SNH ARATT Y1 h Fat SRl R T
(A) WEER <5k (B) THA =5k
(C) Afa fafere T v (D) 3Tele <%
74. August Kranti with “Karenge Ya Marenge” slogan was related to which movement for India’s

74.

74.

74.

74.

independence ?
(A) Non Cooperation Movement (B) Quit India Movement

(C) Khilafat Movement (D) The 1857 Sepoy Mutiney

“FRLE! T MRS CEONTCR SN918 FIfY Sed TN 20 T (B! SR (100 T 2o 2
(A) PRI ST (B) SIF® Oyl SCWIEw

(C) TRsree SN (D) 1857 51 fooii2l Rmiz

95 IS TR 2 W@ NG S0 FETOR (Fiel ST eI e F=1Fe T 2
(A)  SPTREN SCwiEs (B) SIFS QT K

(C) TRsree SN (D) 1857 @7 Ti#iid} Reaig

“ AT e IMA ! T T STATS T S SHeRAreSt | § 2

(A)  TESITSRITY HHEHRA™ (B) ¥IRA ANTRAT HIHEHRATA

(C) Taemra FHEERA™ (D) 1857 " fHurg fsmmam

YT A HE AR R WY ST hifd YRA i A o o) fohe STiSer ¥ Gaifyd off ?

(A) STERIN R (B) ¥Rd BIel g

(C) Taamwa siger (D) 1857 =1 fourdt fose
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75. The national flag of which country features a dragon ?

(A) Bhutan (B) Singapore (C) Japan (D) Myanmar
75. (P (I ST ASIPS (Goiea B A0 2

(A) oW (B) feroliejm () Gl (D) SR
75. (P (O GIST SIS QoI 2 g 2

(A) OO (B) PErsw (C) ol (D) SRR
75. 99 B RihaEd 37 € ?

(A)  qdH (B) fEmR (€) S (D) FHR
75. o 29 & T e W ST Afehd § 2

(A) M (B) oM (C) S (D) MR
76. Sharp pointed teeth inside human mouth are called :

(A) Molars (B) Canines (C) Incisors (D) Premolars
76. WRI I4F [C0Te 4 (B, (Slel Mie@Is (@ 23 8

(A)  (RTVS (B) (TU® (C) IFTwlo (D) #[ATS ufe
76. SRR AT (SO LR 5 1o <ol 27 ¢

(A) (o9 wie (B) (=w« wf® (C) FEIure (D) SateRe 7
76. WA GASTE AHE SHR SAERET A B 2

(A) BT EIEH (B) HITIE™ (C) T TAE (D) T gri B1em
76. T % Hg % IS TR fdl hl Fel ST

(A) = (B) Y& (C) Fd=® (D) 3T =eviH
77. Who conferred the title of Kalaguru to Bishnu Prasad Rabha ?

(A) Rabindranath Tagore (B) Bishnuram Medhi

(C) Subhas Chandra Bose (D) Sarvapalli Radhakrishnan
77. RRgeRv Aol Falas Sofd (e el SEfee 2

(A) I 3T (B) feeaw fy
(C) TeRdv™ ]
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77.

77.

77.

e 2P FreitE Femes THifd & fMeafee™

(A) FTEIL S (B) e fa

(©) eI g (D) P ARFA
“omemre’! T @i foe) g TEEn 9R St ?

(A) oz T argR (B) foroas afy
(C) gu§ == 9" (D) TETeR THTFHH
TTSI] JE1G T 1 SHAINE ohi Ty foher < 2

(A) =T TR (B) foroom Tl
(C) g™ =g 9| (D) et TUFE

78.

78.

78.

78.

78.

What is situated at the confluence of three streams Sandhya, Lalita and Kanta ?
(A) Vasistha Ashram, near Guwahati

(B) Ajan Pir Dargah, near Sibsagar

(C) Malinithan temple, near Silapathar

(D) Garampani hot water spring, near Golaghat

Ty, el Sk FIE! TNF S0 TELRIT ARATZTS (FI0] SRIFS ?
(A) SR AT I ST

(B) Tie7isleq ATIoR Serie 7K w9z

(C) Toetviums T7T Wfeieie s

(D)  CoNETRIGE AT I2[ A T Tl ©F

!, ST, IV G2 fonlb T 20T FATNECE SR_IFS ¢
(A) R FE6IST AE s

(B) fRmTisica F6as | wiienis 11| vl

(C) FeNaiE Feoad! Mfswrge T

D)

D) (eSS oo sawsiif Tae giwas

T, AfAdT SR hI=dT S AT STEREE TR 6 € 2
(A) =fTg oT19M, TERR! W

(B) ASTH UR SUTE, THaEIR |Enfeme

(C) wifafem Af<y, faeThiaR FrerfermE

(D) TREYHT 5 < G, s IS

T, SAferar 31X shidr i STaremetl o G o oy o € 2
A) 9Rras 3TgH, TR % U™

B) 9H R TUTE, ReadrR &

Q) wiferram Hf, faameR & 99

(
(
©)

(D) TRHUM TH UM % G, AT & I"
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79. Ason 15t of January, 2022, which of the following is NOT a (administrative) Division of Assam ?
(A) Lower Assam (B) Barak Valley
(C) Hills and Central Assam (D) West Assam
79. 2022 79 1 N GRIST ACATE RS (FEEG! SO (HHS) FRANGs F27 2
(A) S =P (B) 3 Golere
(C) ISy @ &y SET (D)  =If¥53 pT
79. WA (FMH 2022 €F 11 SHE! ACATE SRR (2HTF) FRNSe T 2
(A) % =P (B) IR GG
(C) e @ &y ol (D) %53 SPT
79. 2022 AEAEM 1 SR QA TRE el STEmH (GArsam) ssrl 1T ¢
(A) TR HAEH (B) oIk HIH
(C) TSI TR ISR STTEH (D) W& AEH
79. 1 Sed, 2022 & fFrefafad § @ w9 91 o189 a1 (TeHfe) TH @ § 2
(A) T e1EH (B) U &
(C) vaIfear 3R wexr oty (D) ufvem stEm
80. What is the name of the statue placed near Sardar Sarovar Dam in Gujarat ?
(A) Statue of Liberty (B) Shakti Vajra
(C) Statue of Unity (D) Shanti Stambh
80. TR HHIS IR AHA INI91S Flol Fa1 SRS 71w & 2
(A) @y R o (B) *fe3g
(C) (¥ [ 2TMD (D) =G ®s
80. WTEIGA I ACAIRR A P ZI Iz A T 2
(A) o5 o feraifs (B) *fe3g
(C) IR oI 2T (D) =TS
80. TR TRER W 'sR A< WfTe @i SH™ qg@t g1 11 ?
(A) VR A% faamet (B) wIfeRi 9
(C) W % Wi (D) it Ty
80. TSI H TSR TSR ol o Ui Lefad Wfamn o1 o A ¥ 2
(A) B i faad (B) wfh =
(C) = ATE el (D) wnifd &4
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81. Which country was involved with India in the Doklam incident of 2017 ?

(A) China (B) Afghanistan (C) Bangladesh (D) Myanmar
81. 2017 59 UFETN FYS OIS (0O (PN (7 &iC® ifee] 2

(A) (B) SIwaNE®IE (C) 3= (D) TSI
81. 2017 (T (OIS WO ©ICSR 0 (Tl (7] &fe® e 2

(A) & (B) SIS (C) T (D) SRR
81. 2017 AL Shed SNUMTE o6 R HRAS AISTHENIGIHMA ?

(A) =M (B) SR (C) e (D) ™FER
81. 2017 T SieheT =T H ARG & WY i 1 <0 A o1 ?

(A) = (B) SA®MITEM (C) TS (D) TR
82.  Which of the following Novels was written by Kanchan Borooah ?

(A) Mrityunjoy (B) Oximot Jaar Heral Xima

(€) Ontorip (D) Asol Manuh
82. TRRIR® (PR TN Bleew T8I el FiifeeT 2

(A) Jg& (B) SPAITS AN (e A

(C) TGS (D) e MR
82. WIA (IR THATIPAG Fizewy TR o020 2

(A) TG (B) SRINI® AR (A A

(C) I (D) e MR
82. TEMM &1 Wl WG Si=a sl fermE ?

(A) HITH (B) ATHHd ST U e

(C) ety (D) 3T A8
82. fr=fafed # & wF-W1 =g &= a&sT gN foan i o ?

(A) HFGSHE (B)  3THIHA SR B HiH
(C) 3l (D) 3Ed HIgE
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83. Which of the following places of interest has been recently included in UNESCO World Heritage
Site List ?
(A) Charaideo Moidams (B) Batadrava Than
(C) Poa Mecca (D) Sonai Rupai Wildlife Sanctuary
83. TR @G ST e ¢TSI SRR e @feyy (Faq Oife e SeE 41 (202 ?
(A) BIIZCTS G (B) 5wl A
Q)  colRt st (D)  GIelE A2 Il SreA=el
83. fxfiiie ST Zelm St @R TS Tomes ey AfezRR 2R ol Tude Zg ?
(A) BHIEmS AFA (B) I5wAl AN
Q) o (D)  CINIZ FoiiZ IVAIT STex=e])
83. iz M diaiwr, faREmR Rl FRgaik sRe (UNESCO) g1 SRl ST WiRelgsTe e
REIREEESIEUICIR ERIRES |
(A) =IEed HIH (B) gl U
(C) 9'dl HeRhl (D) ®'9TE ®UE AR A7 g
83. frefafed § & forg strerdo Toret sl et € | A%kl (UNESCO) forear forrerd Toret =it | snfher feran mn
8?2
(A) TRIESS HESH (B) degal UM
(C) I3 HeRhl (D) HHFTE &R I=ISie HAHIARTY
84. In Assamese literature, who is known as “Ekhud Kokaideu” ?
(A) Nabakanta Baruah (B) Medini Mohan Choudhury
(€©) Kumud Chandra Hazarika (D) Kamalakanta Bhattacharyya
84. SPTNEI AMfZST® “Gynt FHRZS” A FIF Gl AR 2
(A) TG 71 (B) el GIIE (B
(©) T o™ Y (D) FAEFIE OB
84. SPTIRI ALY (F “Qyv M I 2w 2
(A) TG I (B) AWl GaII= (oI
©) T oE I (D) TG ©GHIR
84. 3TEMHAT YAcTZeTE WG ¢ TEE & 'FEed’’ S fafer 2
(A)  TIH TEAT (B) HfeH wed =t
(C) FHS == B Tl (D) AR HgEE
84. oTEfN Wifecd H ' TGS FhEas’ F TH § et S S § 2
(A) Tehid T (B) HfeHT Hied =rerd
(C) FHS =g ESILehl (D) YR e
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85. Which of the following airlines does not exist anymore ?

(A) Spicejet (B) Indigo (C) East West (D) Vistara
85. fINFe (FRCG! R 107ia oIy IO e «iE 2

(A) ~RBTEE (B) Zfwar ©) BB (D) fewmi
85. +TICOS (P Tl I I (RICT] &g (72 2

(A) %A (T (B) Zfetall (C) =5 e (D) fowm@i
85. TR ool far et grsiran STifergrerel et ?

(A) Y S (B) sf=m’ (C) =& =% (D) fuem
85. frafafed § & ®H-H Tavard o@ sifaa | 761 § 2

(A) TEHSE (B) gfem C) W= (D) foram
86. Which sport is the Davis Cup played for ?

(A) Badminton (B) Table Tennis (C) Lawn Tennis (D) Cricket
86. (TfORFIA (SIRY (479 A (U&7 27 2

(A) @RI (B) (BT (Bm (C) =W (Bl (D) fees
86. (PN FILM (Ofe Pl (1 2 2

(A) TIeRT (B) (BRel (G (C) =W @R (D) feo
86. Sford IIE! w FREARMEN @M et ?

(A) wefged (B) daa <9 (C) = = (D) ToRee
86. <faw %4 fhd wa & foT wen S 2 2

(A) Sefed (B) <od o9 (C) o f (D) fhehe
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87. Sunlight helps in producing which Vitamin in a human body ?

(A) Vitamin C (B) Vitamin B (C) Vitamin D (D) Vitamin A
87. IR (AAIFF AR *9© (@i fEHIfsm Tesimere 72w FF 2

(A) TeBIfE C (B) TeGIfF B (C) TeBifm D (D) feBItE A
87. IR S| AFRME (P Bl ToF1 T AR T 2

(A) TeBif| C (B) TeGItF B (C) TeBifm D (D) TBitE A
87. WA IgmEmE WMgst 99 fierfiat WrfsE ?

(A) fwafga C (B) fyerfa B (C) fwarfda D (D) fwerfgT A
87. T 1 Yk A IRR H fory faeifid & 3cured # Heg il § 2

(A) et C (B) foaerf&= B (C) faarf®= D (D) foerfi= A
88. Harihara also known as Hakka, and his brother Bukka Raya, founded which kingdom ?

(A) Chalukya Empire (B) Vijayanagara Empire

(C) Chola Empire (D) Hoysale Empire
88. T RS 7o 22T W (9€ Y I T (e ATEy Ao Fhifee 2

(A) BRI ASEy (B) Rerzee A=y

(C)  (oleT TSy (D) ATl ey
88. zfza AN 25l Wicw #Ififos W=k ©iF ©f2 370 a1 (@i A wfew Fcafarem 2

(A) Dl AISey (B) Rermam =iey

(C) (B ATy (D) (=% Ay
88. B, S T SMa ffersal, st fafi whem Jaemt T, =76 TESE MAEeH ?

(A) =TI HHETEST (B) fos=R "HTEsT

(C) = HHUFS (D) SIHIAT HHIFS
88. BRER, & TR & TW | ot 1 S ¥, 3TN Wk WE a1 T 7 fohd U T T 1 2

(A) =TI HHA (B) oS TR w4

(C) = T (D) TS IHA
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89. Which of the following is a non-renewable source of energy ?

(A) Wind power (B) Hydropower (C) Solar energy (D) Fossil fuel
89. IR 7Mya (TG e TS eI T 2

(a) e (B) e © v (D) S 2
89. WIS (D SI-RIANCAIS] *feq T 2

(A) AP=fE (B) wwikmefe  (C) CM=fE (D) SR Gl
89. TR Soi T Skl BIGHSTT G ?

(A) @R - sel (B) - @l (C) ¥ wife (D)  sferTE S
89. frafafed & @ HF-w1 =it 1 IR-TFelrehiia & § 2

(A) HIT FHel (B) < forgd (C) IR (D) SirereH g8
90. Saptakanda Ramayan was written by :

(A) Horibor Bipro (B) Madhava Kandali

(C) Ananta Kandali (D) Hemo Saraswati
90. FEFe T (e e 2

(A) =fE Ry (B) &R Il

(C) WIS FUle (D) EATTS!
90. TGP AT ToeN FCATRC

(A) == e (B) SI¥d et

(C) g I (D) @IFETS!
90. FWHTE TAFTE! R fAC=HA ?

(A) BReR fag’ (B) HI¥E wHUSl

(C) = Hueel (D) oA’ S
90. FWHTES THAF ferEh g gl T8 off ?

(A) B fog (B) WI¥d whafcd

(C) oa Hafd (D) T Lt
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91. Which of the following countries is NOT a permanent member of the United Nations Security

Council ?
(A) France (B) China
(C) India (D) United States of America

91. TRERS (@ (7™ AR Faisiel #Ifiava ZIE swop T2 2

(A) == (B) B

(C) wikw (D) Sl J&1g
91. <od @ it Tifemkead sl sifdama =i s /g 2

(A) &= (B) Bl

(C) ke (D) N Je=1g
91. RS BHE o6l TG TS T Y@1Y SRR SH FIGH 7T ?

(A) P (B) =M

(C) R4 (D) STHRER SIS BT

91. frefafad # ¥ S |1 S T T &N TRUS 1 TRl T8 T8 © 2
(A) e (B) =M
(C) R4 (D) HgH T STHREH

92.  Which of the following movies was not released in 2023 ?
(A) Jawan (B) Animal (C) Pathaan (D) The Kashmir Files

92. TNfIe (FA berood 2023 b & (oii7l Fifee 2
(A) T (B) @fqcaret Q) AN (D) W I FZeT=R

92, I (I HaOGAD 2023 A Y& o 2
(A) TeT (B) i Q) AN (D) W IR Tz

92. TEEM 9 WEYAE! 2023 TR STRAR ST ?
(A) &R (B) TrHHw (C) &M (D) T' HTHR HEH

92. frAfafed § § wE-H fhen 2023 # Refts 78 g8 off ?
(A) SEE (B) ufHa (C) WM (D) T SheHI HiEed
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93.

93.

93.

93.

93.

As on 1%t of January, 2024, who holds the portfolio for External Affairs in Narendra Modi's Council
of Ministers ?

(A) Dr. Subrahmanyam Jaishankar
(B) Smt. Nirmala Sitharaman
(C

(D

) Smt. Smriti Zubin Irani
) Shri Kiren Rijiju

2024 59 1 & SRS ANCATE " (IS W@ sifawe ([lE 2IREwR 7ed 9 779 TS AR ?
(A)  To LT SIHES

(B) @rrS! fsfa ol
(C) &St gfe g 2t
(D) & fe fferg

2024 €3 1 &1 SRR ACATE TE@H (NG TG AR @t R waE@ witeg & foew 2

2024 HITEM 1 AR WITAraH "% A W= SRS S1ersi ST g o §Ri g ?

A) T YIEUIH SR

(
(B) iwcit foefen Hiarmm
(
(

1 SHed, 2024 1 g At i1 HqEaiue & fogw 4o &1 39R fads T 82

A) Sl GoIeIgH SEva

(
(B) iwcit foefen Hiarmo
(
(
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94. Which of the following is NOT an IPL team ?

(A) Delhi Capitals (B) Gujarat Giants

(C) Sunrisers Hyderabad (D) Lucknow Super Giants
94. RIS 7721 (FINCH! SNRf7lae wel 72 2

(A) Tl e (B) WTAD TTTY

Q) RWRITEE FvEAM (D) #CH! T SRR
94. IO (PTG SR . 4e1. wel T 2

(A) T ifoGEm (B) &SI SITDA

Q) AmaizEn ZRmRm (D) CH oI SIRGH
94. TRMEM & HHA o7 fa ue 7 el AT ?

(A) Toeedl siydes (B) T[SNId SETAH

(C) HFUESRE BEIER (D) dETS: AR ST
94. frefafead § € SH-4 o1 o a1 39 & ¢ 2

(A) foeeht *wfteew (B) TSWId SEH

(C) HTESH &R (D) TGS W SEH
95. Which of the following is highest, among ranks of the Indian Army ?

(A) Brigadier (B) Lieutenant General

(C©) Major General (D) Lieutenant Colonel
95. SROR (R “WIPTEA foeae FHFHARS (NG AW 17 2

(A) faeafeas (B) (TG (ST

Q) CT&R (SR (D) ETFCHECG el
95. b (NI CIISR FRIRITEAI 2RIt Scay A 2

(A) T (B) TG (ST

Q) CToR (SHIEE (D) (ST el
95. TR Sela HRAM @Y Bl S omal ?

(A) forifem (B) WIHd= e

(C) HSR S (D) WHATE e
95. frfafed ¥ 9 & vt 31 % Yol § wat= §2

(A) forifear (B) iftree S Ret

(C) HR A (D) wifHHe id
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96. What letters would fill the blanks in

AO__BPP__ __ QDR__ _ SSFTT

(A) OCREQ (B) OCQER (C) OCQRE (D) ORQCE
96. (LG 3 AR AO__BPP____QDR__ _ SSFTT 3 & ZPHz 7[5 F< 2

(A) OCREQ (B) OCQER (C) OCQRE (D) ORQCE
96. (I Iefefer % g 2)f I 2

AO__BPP__ __ QDR__ _ SSFTT

(A) OCREQ (B) OCQER (C) OCQRE (D) ORQCE
96. I TGRS TGl ST 3716, WA S ?

AO__BPP__ __ QDR__ _ SSFIT

(A) OCREQ (B) OCQER (C) OCQRE (D) ORQCE
96. AO_BPP__ QDR ___ SSFTT # fiad T &l %4 ¥ 318/ Wil ?

(A) OCREQ (B) OCQER (C) OCQRE (D) ORQCE
97. Statements: I.  Non-metro cities in the country have been suffering due to load shedding

97.

for quite some time.

II.  If the Government is not able to overcome the power crisis, load shedding

will be extended even to the metro cities.
Which of the following conclusions can be drawn ?
(A) Both Statement I and Statement II are effects of independent causes.
B) Both Statement I and Statement II are effects of some common cause.
Statement I is the cause and Statement II is its effect.

Statement II is the cause and Statement I is its effect.

e ¢ L R GGl REM 523 2 (1T (xifes Ata T e #191 38 ofl wnifecz |
I I I Rges AE0 V1 SR R, (O0F GG 52 MRES @I (i Ao

9|
Fxfefie @G faes Toare 29 #ifF ¢

(A) ¥f& [ 9= T 11 7R F97 FFeR AE (@[ doK |
(B) Tf& I W= Tl & 11 75! (@I Toazs I FF°R A (@1 Ae |
(C) T I (g T =1% i 11 (202 37[ 4[|
(D) ¥f& I (T2 19 917 Tfe 1 (202 31 4[|
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97.

97.

97.

W[e: L @ g @2 Ry 2612 @8 &) (MeoR F9-CI08 ] =28 STe 9ol |
1L RSR Ry 730 FHE BT It AR (G *=eas [Kigje 2o oIS 2@ |

e TR @i TopiaRtee e i 2

(A) Tox 3fe1 =g /e 11 TR TR de[ |

(B) Tox f3fel 3 RJMO I w2 TR 2o |

(C) TIfe1 == Firel «ag JIO I =1 ~Ifeiis |

(D) TRz Fiel @k YRS 1 =7 ~ifeiisr |

foefaic: I AR 98 FRRERT S geyd Hifsed TRAM™ (Load Shedding) T STa TamafToms
S HEEI ST |

I S TER Hifserd MR SAareral Qg graree Hifserd TR FRATRR f&m T |
TMETA T SHeeerd! ATsTaT g -
(A) Tesifer 1 o farsfer 11, Hmes Sai SeEf wms
(B) Tagfer 1 o farsifer 11, Hmal &'amr SR S
(
(

C) fagfar 1 o1 A o faeifer 11 o7 fafy S
D) fadifer 11 en SEM S fargifer 1 e foifs S

HIT: L U FH IR-UI IR FE I Y A AET T wHen § 5@ ©@

II.  3TR SRR fostell Gehe ¥ 3ok T I o1 e TS 1 ST Wl Il e off =g S |
frefafed § 9 & @ fend e s g € 2
A) HITI RFHST I I T HROT % JuE |

B) e I SR 1 ST fRel ST hI0 o q97e & |

~

(
(
(C) HITI HRU T 3R e 11 THH T9F T |
(

D) YA I FRU ¢ SIRHYA [ SHH Y4E B |

98.

Five cadets Charles, Harmit, Om, Piyush and Tapan were asked to pick up one each of the geometric
figures : a circle, a pentagon, a trapezoid, a hexagon and an octagon. They had a condition that
one cannot draw a figure which has a name with same first letter as that person’s name. Om’s
item has exactly one pair of parallel lines. Charles, Piyush and Tapan picked figures with more
sides than a quadrilateral. Piyush as well as Tapan’s figures had lesser sides than Charles’figure.
Who picked up the circle ?

(A) Harmit (B) Charles (C) Piyush (D) Om
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98.

98.

98.

98.

|5 5I9I$T (e Charles, Harmit, Om, Piyush ¥1% Tapan ¥ Circle (J€), Pentagon (#1%¢%1), Trapezoid
(G, Hexagon (0% % Octagon (SHgE) wifn Sifsfes I(lSdM}L-'{ﬂ G i '3t @[l
2| 5O T (T (SEERRT RAG! R MR (TS (SETENS A @1 Has T[S s swvae e
@RI @ 9 @ Om < e 5% QIR FEIeT (921 AT | Charles, Piyush < Tapan 3 b@© 4
TR PTCTH APRATS(F SIfHF | Piyush ®I% Tapan I @® Charles I bae(s T A A2 ACF |
Circle (3€) ! @i e teifea 2

(A) Harmit (B) Charles (©) Piyush (D) Om

sifoee A5a RIS (F9C86) Charles, Harmit, Om, Piyush @<} Tapan (F wifsifes oa Circle F©),
Pentagon (51%%), Trapezoid ((G&N), Hexagon (FICLE) @3 Octagon (TFYE) 9 & (I
@5 ([@0r [T 39 et | oitE @i *6 el fedl (@ o=l AtoeE i (6 oa fre 2R a1, @
Hafoa T 2L SrFg O AR ALY TR AL G928 Om 3 Hafbre 5 aaeaier Fee @2
JCR| Charles, Piyush €<% Tapan BOYCEH (5 (A1 ARiE foa @z s | Piyush @R Tapan &g
f50@ Charles <3 5@ (2F 3 312 727 | Circle G\ T (& wrelles 2

(A) Harmit (B) Charles (©) Piyush (D) Om

e fafeedl BUTERR Charles, Harmit, Om, Piyush i Tapan Gl |9 JEw HH'{E[S:I'Iﬁ i
Circle, Pentagon, Trapezoid, Hexagon AR Octagon @l 9@ e arifeEel | fsarfe e g e
S ST Ea Maf g 9 gia@rsi S SerniE! STREaEn | OmfA Jermian s/'9 fom et 1 |
Charles, Piyush 3TRI Tapanf™ SeRTRGRET STE-2rsiT ST @12 | Piyush 3T Tapan®@l Charles
g WA | Circle Bl R 9= @t ?

(A) Harmit (B) Charles (C) Piyush (D) Om

i el Charles, Harmit, Om, Piyush 3R Tapan =) Teh Ueh SAHAA 34'@&[ =) ﬁ ED forq et
™ : Weh 91 (Circle), T TerehioT (Pentagon), T THaAd (Trapezoid), Tsh UZYS (Hexagon) R Teh
STWHIT (Octagon) | ITeh! I off Rl I3 i TET SMHfd & o Hehell TSGR SHUSH T8 T Y8 &R 3H
feq & TS 9 % U8l 31eR % §HM &1 Om & 3T5eH | MR Y@sll &1 foasa 1 Sier €|
Charles, Piyush 3R Tapan = IS ¥ Ao e arett ﬂﬁ?ﬁlﬂf kil Piyush iR Tapan 1 SRl
I YT Charles i Th{d & %4 off | g0 = fmg 33m@1?

(A) Harmit (B) Charles (C) Piyush (D) Om

99.

99.

Soniya drives four km towards the west from her home, where she crosses a bridge. She takes a
left turn and the drives for six kmes, till she arrives at the town center. Here she takes left again to
drive for another twelve kms to reach her office. If she decides to take a shortcut on bicycle, what
would be the shortest possible distance between her home and office ?

(A) 18 km (B) 12 km (€) 9km (D) 10 km

(RIF1Z 79 “1at sifew frsitet 51 135,50 ol pai2 @< el i1 23 | ol ACTIE IR = .. <Ma@if 5w
(G5 ToIfFS 27 | 310 ©iF 271 19 fes! IR o1 319 f5.f51. 9181 5eniz wizq wifes ofeitat | 7t ©i2 53 %@

BIEEeTS AR P& 717, (O0F ©I29 11 S SIRF5S NG Paos B9 7y Bl 232
(A) 18 M. (B) 12 fL. () 9= (D) 10 =EhL
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99.

99.

99.

T ©lF AT (A =163 eE o 7., 9l I, (@ (1 930 ET Sifoems S | (1 A Wi (e
T @38 R =680, 9IS BIfeTea 9913 (e (o1T=IT | @It (31 ORI Jiiwss e Qi =666, 9iifS siferca =it
TR | @7 I FRERE 51t AR TR Fraie (717, Sizee o Y @R SIRFER T Paos 7y Fo
@ 2

(A) 18 .M. (B) 12 R.f. (C) 9 =H (D) 10 &M

afvrarn mafa 7' Gty o fore frer MR wreree aret S faEr e v area | forl smfafi
fifdam g’ fra'fer oiFM 2RA I=R wied | forll e sRama sfaf ffdam 9 forer firer MRk
HIAIAAH M Aaga diedl | S[fe ol drEchal AramaH g’ ammst ared, faf 97 o degfar
U NERSIREISIERIRIC I

(A) 18 fa.fa. (B) 12 fw.fA. (C) 9 fmfa. (D) 10 f&.fA.

Gifrr 199 =R 9 ufem it SR =R Tt T T €, el 98 U Id IR I § | 98 9 SR gt § IR
T Yo U= Tk BT FoRH T S TR ® | U] 9% STUH HEierd 7 Tgen o fae e § a1d gedt §
3R aIRE Tt ook TSt Tt ¥ | Afs 9% e W widwe o &1 ol ot €, @ S9% R iR e &
e <A Hea gh R g ?

(A) 18 km (B) 12 km (©) 9km (D) 10 km

100.

100.

100.

100.

100.

Of the following words, which would be the last to appear in a standard English dictionary ?
(A) CONTINENT (B) CONSTANT (C) CONSIDER (D) CONTINUE

GF F I SfaiTe MR STeREs @R =@ FHeRs A 2
(A) CONTINENT (B) CONSTANT (C) CONSIDER (D) CONTINUE

Il el e @Hb 9t vl 3Es sifedig G anffe 3@ 2
(A) CONTINENT (B) CONSTANT (C) CONSIDER (D) CONTINUE

TMETETE B QbR TSI, e diarel AT 3Usi Hiard fogate e I ?
(A) CONTINENT (B) CONSTANT (C) CONSIDER (D) CONTINUE

FreAfefad veel § 9, T it T | STHaTe iy vIsg HIF 91 2 2
(A) CONTINENT (B) CONSTANT (C) CONSIDER (D) CONTINUE

101.

101.

101.

101.

101.

Identify the set that does NOT follow the common rule as others.

(A) 2:8:64 (B) 4:64:216 (C) 6:216:512 (D) 5:125:345
SR BCIRS Rl W3 SRpiee] 74l esieh! forie e |

(A) 2:8:64 (B) 4:64:216 (C) 6:216:512 (D) 5:125:345
SR O] G2 AR TS SRR /9 F1 Aol bz T |

(A) 2:8:64 (B) 4:64:216 (C) 6:216:512 (D) 5:125:345
MR o6 Yo TAHR afS 51 "°1 H At ?

(A) 2:8:64 (B) 4:64:216 (C) 6:216:512 (D) 5:125:345
3H U2 ! TEAM B Sl SHU i e W T 1 9o TEl w |

(A) 2:8:64 (B) 4:64:216 (C) 6:216:512 (D) 5:125:345
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102. A six-faced regular die always has the total of dots in opposite faces as 7. Four such dice are
thrown, and the top of them shows 3, 3, 2, 6. What would be the total of the dots in the faces
touching ground ?

(A) 15 (B) 14 © 21 (D) 17

102. ¢ -1 g% s «iafGe fifmze 4w v w1 aemies =itz Ace @fs [eidts Fif3sea e 3o
(AI9=FeT ST 7 2| BIfRGT T 1o Amiie b wiereare seort iz @ 3, 3, 2, 6 /W A ol
et | sirlefl (25 B o Tt PifivTrs 9l 7 U o @i [ 2
(A) 15 (B) 14 <© 21 (D) 17

102. <3 e AT g (=) 56 [ATTS 7o g (@isies1 751 7 | @3 4200 i st fewe 31 =
GRR OIE M 3, 3, 2, 6 7 @i | it = 211 sjro7 Repafem (i (aisres] v 23 ¢
(A) 15 (B) 14 © 21 (D) 17

102. T HRE T S 3ol AEhRE oHE o< SSTermee Semel 71 A TE Sed@! Gormam s
AR 3, 3, 2, 6 faf-rel | TRt o HraihR S -

(A) 15 (B) 14 © 21 (D) 17

102. U B¢ et fafad 9 § goen faudia wetent | foigsii o1 4 7 21 € 1 T8 =R 9 e 9 &, 3fR 3%
I W 3, 3, 2, 6 foig fo@mE T T 1 S = DA o1l Tershi B figedl &1 o dn @ g 2
(A) 15 (B) 14 <© 21 (D) 17

103. What should be the missing number ?

69|15
8 112] ?
416(10
(A) 18 (B) 16 (©) 24 (D) 20
103. SRFe MRAIH! F 23 AR e
69|15
8 (12] ?
416(10
(A) 18 (B) 16 () 24 (D) 20
103. wefEe k4 o zeq Tfos ¢
69|15
8 (12| ?
416(10
(A) 18 (B) 16 () 24 (D) 20
103. A< WU Al 3716, @Iemd S ?
69|15
8 12| 7?
416110
(A) 18 (B) 16 (©) 24 (D) 20
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103. 3TUfed HE& o1 B ey ?
69|15
8 112| ?
416110
(A) 18 (B) 16 (C) 24 (D) 20

104. Michael needs to go to university for his test. He started from the East and came to a crossing. The
road to the left ends in a Railway station, straight ahead is the Museum. In which direction is the
university ?

(A) South (B) East (C) West (D) North

104. W ATHR AR RRETEE TR A (0 7[R+t 9@l o198 FR 96t sifsenfers Tofze 2|
(ST TNE FIET 2ICH! Bl (570 (F5® (¥ (RCR; (AN (2T S9(CaT 51w b1 eferin ez | fReifawgieraas
! e SRfFe 2
(A) mfERd (B) =& (C) =if*5w (D) T

104. SEEFEE OF AR Go IRMAE SR A@TH W G 97 0F (AF @ 9F F@ 90 G
1 | M AW G0 (FACEGHE (*1T R, I AR IV | R (@ M 2
(A) wfE (B) =& (C) =% (D) T

104. WIEHAT SIS &A1 Hrrcianterars i | ol Trsi-Re SHaRaH Wy T GereHrare Sherd |
ST AR Y& Lo Araeiedl, disit e BfSEmE diedl | geEaidrasn g fos ?

(A) Wl (B) HISEl (C) HrrwEl (D) €@

104. 3T X TeT o foTT Asehal ol favafa=iierd ST € | 98 g4 o el oieht 310 =R § Y& gaTl 31k T IRIe
R U 9E SR H GSH Th IO WY W gD Bt T Sk AW i Heh W Y Tk IR T
forgaforaner form faen & €2
(A) =feo (B) T (C) wR=w (D) SW

105. How many milligrams make one kilogram ?

(A) 10 (B) 103 (C) 104 (D) 106

105. & fcavtenre 3o Fue e e
(A) 10 (B) 103 (C) 104 (D) 10°

105. F© Wi & festa 27
(A) 10 (B) 103 (C) 104 (D) 106

105. =¥ fHfeums | fohet "o S ?

(A) 10 (B) 103 (C) 104 (D) 10°

105. fora foefiom & s fraimm oar & 2

(A) 10 (B) 103 (C) 104 (D) 106
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106. Which word features less than four different vowels ?

(A) Promotion (B) Sustainable (€) Question (D) Potential
106. (FCH! *7© HIfGrOCE T AU for fom Feael wiic 2

(A) Promotion (B) Sustainable (€) Question (D) Potential
106. (I =<rbre bR 5 for emim wwae ©icg 2

(A) Promotion (B) Sustainable (C) Question (D) Potential
106. TR & Hiareel sl TH T gl & ?

(A) Promotion (B) Sustainable (€) Question (D) Potential
106. T g # oR & &7 firs @R e1am €2

(A) Promotion (B) Sustainable (€) Question (D) Potential
107. How many squares can be identified in the figure ?

(A) 21 (B) 18 <© 19 (D) 26
107. wers fHacsie FG! oftwa (oAl A9 2

(A) 21 (B) 18 © 19 (D) 26
107. = foea 6 5 e =1 A 2

(A) 21 (B) 18 <© 19 (D) 26
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107. EFRAE HHA 9 o7 T4 1441 2

(A) 21 (B) 18 (C) 19 (D) 26
107. &3 & oo | foram ol qg=m S Hehd © 2

(A) 21 (B) 18 (C) 19 (D) 26

108. Which of the following is different from others ?

(A) Ammeter (B) Perimeter (C) Altimeter (D) Anemometer
108. RIS [2F (NG RIS 72T 2
(A) @SBRI (B) CHARRGR (C) SRR (D) T RoR

=N

108. e (A ST (TS el 2
(

INERIIEE (B) ~NRRGR (C) I=AGRGR (D) SUIRCIRGE

108. TR S&&T TABRIHE SaT -

(A) TAMEER (B) URfER (C) Tfeefier (D) UHH'THER
108. frfafed § 9 #H-w @i @ = §2
(A) THX (B) IR (C) TR (D) THIHHIS

109. Total age of three friends - John, Johnny and Janardhan, whose birthday is on same day - is 84
years. What was their total age four years ago ?

(A) 72 years (B) 80 years (C) 78 years (D) 76 years

109. G5! Wece & (2Rl fof agi— o', &I I Siivers X070 3]0 (A19127eT 84 I | BIf T2 7I 1 (€T
TR I @ e wnfesT 2

(A) 723 (B) 803 (C) 783 (D) 769
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109. 9 37 - T, T G TS, AR ST G52 G - (G 9191 84 I | BIF I N9 ©IT (15 309 9
ey 2
(A) 723= (B) 80J= Q) 787 (D) 763

109. UM AFMHRMA - 5F, S, SHRYE, Safq STHAHEE GHaare) - SEeT 19 84 siER | Sers fa
TRt SEien </ S92

(A) 72 9HR (B) 80 AR (C) 78 9K (D) 76 AER
109. < Sl - S, ST 3R SR, feRt s T & feT § - ot Fal SU 84 9 ® 1 9R ¥ g A Fe
9 i ?
(A) 725 (B) 80 I (C) 78 = (D) 76 a4
110. Philately is related to :
(A) collection of match box (B) collection of postage stamps
(©) collection of currency notes (D) collection of fountain pens

110. Foriicsfen S Fich! fve 2

(A) AGEZ ARFG HREZ (B) TR TG Acag
(C) miR (A6 e (D) ICCHES (ol e
110. fFAIGHRR AL 751 ¢
(A)  TrRIEIE @7 A AkaE (B) T 5% @ e
(C) oICe™ @l AR (D) el T (FIGLH (o) QAT

110. ToeT 'acii=n /ST QrH<T T 2

(A) T SN JYHTE (B) <k feohe gYHT™

(C) T foams gyaT™ (D) WR=A U () YA
110. frcteett food Hafa ©

(A) wif=" 1 fesslt 1 €U8 (B) ST feshel k1 HUB

(C) TR 1 9UT (D) THIRH UF I HUT

111. Which two terms would come next in the series :
24, 26, 35, 63, 48, 124, 63, 215, ?, ?

(A) 76, 430 (B) 83, 310 (C) 99, 511 (D) 80, 342
111. 24, 26, 35, 63, 48, 124, 63, 215, ?, ? *RIFANGIN /TS TS (i oI A1 AT 2
(A) 76, 430 (B) 83, 310 (C) 99, 511 (D) 80, 342

111. 26 TGS 276! (i 76 A7 | 2
24, 26, 35, 63, 48, 124, 63, 215, 2, ?
(A) 76, 430 (B) 83, 310 Q) 99, 511 (D) 80, 342
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111, TREM 96 Hi TfGan S gea 319 i : 24, 26, 35, 63, 48, 124, 63, 215, 2, ?
(A) 76, 430 (B) 83, 310 (©) 99, 511 (D) 80, 342
111. S 24, 26, 35, 63, 48, 124, 63, 215, 2, ? | 3Tl A | & Ug A ?
(A) 76, 430 (B) 83,310 (©) 99, 511 (D) 80, 342
112. Statements : All pencils are pens.
All the pens are inks.
Conclusions : 1.  All the pencils are inks.
2. Some inks are pencils.

A) Only 1 conclusion follows
B) Only 2 conclusion follows
Either conclusion 1 or conclusion 2 follows

Both conclusion 1 and conclusion 2 follow

112. of& ¢ FHCAEIR (oIfereTs T |

112.

IFCEAIEIR FeTCi, o |
fmgs 1. FEIEER coifez R
2. fogui foaldl targ (oifde |
(A) & P& 1 Toare 29 A1fF |
(B) (&< Pai® 2© oo 29 #AifT |
Q) Praig1we™l 2© Toiare 29 21T |
(D) 19% 2T Praiere Toere 24 i |

@e s 3 coifme o |
R T e |
TR e 1. W (oA e |
2. g3t (oiferet |

A)  SLINE GPIRER 1 SRR T
B) S GoPIRER 2 SRR T
C) W TP 1 S| TP 2 SRPR I
D) To TPk 1 938 G2PIRER 2 SRRl R
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112. fogfar:  THEl IFEe HaIwR

112.

lII{:\IG’II T GIfThR

AR : 1. TR YfHe SR
2. HEH QAR FHehR
(A)  1SEIREE THEgE
(B) 2 SEIREE’ THELE
(C) 1 7STeeT 2 A TS
(D) e, 1 3R 2, TR

wed : gt Ufef U9
gt 9 =
frerd : 1. meft el =@ )
2. O WRUfEa )
(A) FHad FreRt 1 T g 91 ¥
(B) hae freepd 2 TR UgHT I
(
(

)
)

1 <t Treerdl 1 a1 foeeRs 2 W wE= S B
freerd 1 o) fremd 2 ST W wg= ST 71

113.

113.

113.

113.

113.

Identify the next set in the series :
L3P, R4W, Y5E, G6N, ?
(A) O7V (B) R7W ©) Q7w

L3P, R4W, Y5E, G6N *R<4e1(hR #15a8! 7:2feih! foriie 35 |
(A) O7V (B) R7W (C) Q7W

Are Toa “ae | Aeafelt Hize e |
L3P, R4W, Y5E, G6N, ?
(A) O7V (B) R7W (C) Q7W

L3P, R4W, Y5E, G6N If{arel Srre 3 YU -
(A) O7V (B) R7W (C) Q7W

@ L3P, R4W, Y5E, G6N, ? , § 3TTel TS &l 9gaH |
(A) O7V (B) R7W (C) Q7/W

P7X

P7X

P7X

P7X

P7X

114.

Identify the incorrect Roman number.

(A) Thirty six : XXXVI (B) Ninety nine : XCIX
(©) Seventy four : DXXIV (D) Nine hundred : CM
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114. &% @ AL bie 75 |

(A) = ¢ XXXVI (B) fEiMtm ¢ XCIX
© (oTTes ¢ DXXIV (D) <™ ¢CM
114. @& G 721G Hfere e |
(A)  =F : XXXVI (B) fa=ii=riE : XCIX
(C) pITeg: DXXIV (D) W*9:CM
114. TR A1 A sAfswREl fom 2
(A) g™ 5 &8 XXXVI (B) TN :XCIX
©) fafas:Dxxiv (D) SH':CM
114. TId U9 HE&A1 989 |
(A) BUE : XXXVI (B) f=ama : XCIX
(C) =E® : DXXIV (D) FrEr:CM
115. Ramya’s mother is the only daughter of Prachi’s father. How is Prachi’s husband related to Ramya ?
(A) Father (B) Brother (C) Paternal uncle (D) Grandfather
115. SO AQ AI6F g G5 SRS | 2B FR0 IO TS (G AFHI A 2
(A) fre (B) ©Iy © = (D) ==
115. F0R N 5TR IR GFNG (IR | T50R ACH AT TR T94F F 2
(a) frel (B) ©R © @ (D) g
115. et formman gr=if fomfa e’ frarsi | gr=if frarsen TSt |1 |9 SieE 2
(A) fomr (B) o1/ e () fa=d (D) forsit
115. T ! T = o T 1 Sehalidl o § | Uit o i o1 T § ) Hay § 2
(A)  fom (B) % (€)== (D) <.

116. Which one of the figures is different from the rest ?

> ==

1 2 3 4

116. (PINCH! fo@ WIS GICe 1= 2
M| == | == ;
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116. oaufew™ ey @G SR (A SEm 2
@ === ;

116. & HIAY FEMRAT TITRRIAHRR AR

B==|n

1 2 3 4
(A) 2 (B) 4 © 1 (D) 3

116. 3THfqdl § ¥ wF- 99 Arhfai 9 = €2
@ ==Sf== ]

117. Which set of letters would fill the gaps in :
MAK, LEL,[_[ [ | JON, Iuo

(A) JKL (B) KIN (©) KM D) JLK
117. MAK, LEL,[__[ |, JON, IUO 7 i@ Bz (el as0icafor =9 319 2

(A) JKL (B) KIN (©) KM (D) JLK
117. @ 2fsi® MAK, LEL, [ | ], JON, IUO - 9 S&f%® =arzi 79 5 2

(A) JKL (B) KIN (©) KM (D) JLK
117. TR o9 BE Ys el ST 31 e e - MAK, LEL, | | |, JON, ITUO

(A) JKL (B) KIN (©) KM D) JLK
117. @R =1 H9-91 @9¢ MAK, LEL,[_[ [ | JON, ITUO # fiem Tam =1 s 2

(A) JKL (B) KIN (©) KIM (D) JLK

118. Which of the following is correct when calculated from left to right, ignoring BODMAS, if the rule
says, 5+2=3,5-2=7,10+2=20 and 10x2=5 ?
(A) 9x3-1+2=18 (B) 5+1+4-3=19
(C) 6x2-1+2=12 (D) 7+2+4-2=14
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118. BODMAS 3% Sield Ff1 AWM 5+2=3,5-2=7,10+2=20 W= 10X 2="5 J ¥J =T SR 1 27,
(o0 AETHT 771 EHIiTeT 2ol FRceT MR s (@NE! Sfe g 2
(A) 9x3-1+2=18 (B) 5+1+4-3=19
(C) 6x2-1+2=12 (D) 7+2+4-2=14
118. M ¢F FRAGI5+2=3,5-2=7,10+2=20 ¥3% 10X 2=>5 2, ©7 BODMAS Tl T A (AF I
9161l IR AR TIHA (P @ 2
(A) 9x3-1+2=18 (B) 5+1+4-3=19
(C) 6x2-1+2=12 (D) 7+2+4-2=14
118. IR AT AA 542=3,5-2=7, 10+2=20 3R 10 x 2 =5, 3T BODMAS 1 7H@ Fafam smifafTwm
ST feame Eremeraren MR Jo T o) ?
(A) 9x3-1+2=18 (B) 5+1+4-3=19
(C) 6x2-1+2=12 (D) 7+2+4-2=14
118. AfG 99 54+2=3,5-2=7,10+2=20 3iR 10x2=>5 F&dl &, A BODMAS & @l Hd gY, a¢ |
M &Y 3R AT 1 R Frefafed 3§ 9 we-o 98 g ?
(A) 9x3-1+2=18 (B) 5+1+4-3=19
(C) 6x2—-1+2=12 (D) 7+2+4-2=14
119. Identify the odd pair.
(A) Pacific : Water (B) Himalaya : Mountain
(C) Vesuvius : Volcano (D) Mississippi: River
119. S @RI Hele T |
(A) =g ¢ T (B) fawiera ¢ S
(C) TRz s oncaRfalf (D) el ¢«
119. o (ool iz w5 |
(A) =g ¢ o7& (B) feaew ¢ ¥
Q) covfea ¢ s (D) Fbikifel ¢ a7t
119. <SR SR@! e -
(A) ufafrs .3 (B) Teurer™ : i
(C) Ighram : ord g (D) fafafafy .
119. SIS SISl &l T8aM |
(A) FuIq S (B) femre™ : weld
(C) gfaad : saramE! (D) fafafafy . =<
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120.

120.

120.

120.

What mathematical signs can be inserted respectively to get a correct equation (calculated left to
right ignoring BODMAS) ?

650130 ] 7 []15[]5=15
(A —, =, +, — B -, x,+, -
<) +, -, %, = (D) +, =+, —, —

(A€ T=F 2@ G =ltsT sl F1 2 BODMAS fo=tst siiesiel F€) 65 ] 30 ] 7 [] 15[ ] 5 =159
GF @7 AN 2R FNER NfAfes HF T swee S if 2

A —, =, +, - B) -, x,+, -

< +, -, %X, + D) +,+, —, -

@3f5 I TN (TS F afafes bzafle g@m AfRER e T @ 2@ (BODMAS Tt I AW
(2T BT 9ol 1 ZACR) 2

6513017 []15[]5 =15

(A —, =, +, — (B) -, X, +, —

<C) +, -, %, + (D) +, =+, —, —

& AEHSIR THARRE! SHEE 9R FHFAEE! 941 R (BODMAS JH@! AafqaH, Arfafwms
SR fedTe ErerHaire) ?
6513017 115015 =15

(A -, +, +, — (B) —, %, +, -
< +, -, %X, + D) +,+, —, —
120. HE THHT (BODMAS i 3@ Hd gT oM ¥ Y TUMAT) W 3 o ferw v b § o fome
= = S whd © 2
65[]30[]7[]15[]5=15
(A -, +, +, — (B) —, %, +, -
< +, -, %X, =+ D) +,+, —, —
121. What would replace ?? in the triangle set ?

(4) (8) (5)
@A® @A@ NN
A 9 (B) 11 (C) 10
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121. fage WS GR 2?2 T &F W7 A 2

LA

(D) 12
121. faew 7 .?9%%@%&@—5@9

e

(D) 12

121. Wﬁﬂmw ??@m@h@gmﬁq.

@;

121. f@ W& Bys 9qg & 72 &1 ©IH = o ?

A
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122. Which of the following words is correctly spelt ?
(A) Jeography (B) Jeometry (©) Jeopardy (D) Jeology

S N ey

122. RS &G =1 A waE 71 iCr ?
(A) Jeography (B) Jeometry (©) Jeopardy (D) Jeology

122. FNOF (I 9 od Al A 2

(A) Jeography (B) Jeometry (C) Jeopardy (D) Jeology
122. TR e Haef S 91 2

(A) Jeography (B) Jeometry (C) Jeopardy (D) Jeology
122, Trfeied 9 @ M W s el o 9 foran w2

(A) Jeography (B) Jeometry (C) Jeopardy (D) Jeology

123. What would be the Arabic numeral for MMCDXLVII ?
(A) 2,567 (B) 2,457 ©) 2,477 (D) 2,447

123. MMCDXLVII S (3 S=_KT 72201061 6 29 2
(A) 2,567 (B) 2,457 (C) 2,477 (D) 2,447

123. MMCDXLVII &3 977 7122y F 363 2
(A) 2,567 (B) 2,457 (C) 2,477 (D) 2,447

123. MMCDXLVII {7 3Re sHfsHm=n |1 Smie ?
(A) 2,567 (B) 2,457 (C) 2,477 (D) 2,447

123. MMCDXLVII & feu swel 3fs == 8 ?
(A) 2,567 (B) 2,457 (C) 2,477 (D) 2,447

124. If ROCKET is written as TQEMGYV, then what would be the last letter when RAINBOW is written
by the same code ?

(A) Z (B) Y © A (D) U

124. I ROCKET § TQEMGYV {2 T 341 o, (O3 G5! 8w RAINBOW 1fRts 33019 Wi 34(¢h1
2] ?

A) Z B Y < A (D) U

124. I ROCKET & TQEMGV 2@ (@10 T, O €52 AL 7 RAINBOW (1l 05 (X SFdis 1
{q ?
(A) Z B Y <€ A (D) U
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124.

124.

e ROCKET & TQEMGV feRam S, 37eetl o TE swesii RAINBOW feReet siralen gi@ist o1 S ?
A) Z (B) Y <€ A (D) U

Ifg ROCKET & TQEMGV & &9 H feran S €, 1 S5 &hls 5’ RAINBOW o1 for@q | 2ifaw 31aR ==
M ?
(A) Z B Y <© A D) U

125.

125.

125.

125.

125.

What would be the digit exactly in the middle when 65749 is subtracted from twice of itself ?
(A) 9 (B) 2 © 7 (D) 8

T 65749 FRATCHIF TR o AT =1 [ezis! T 27, (0% FATA0R 5 Gisiers 245l ss! 529 2
(A) 9 (B) 2 < 7 (D) 8

65749 (& OIF fawel (A [eisl Fce 3% TR %’ F 2w 2
A) 9 (B) 2 © 7 (D) 8

65749 B faIfT TSR Mg s JFAE STASHI TSR HfSHE 17 2
A) 9 B) 2 < 7 (D) 8

9 65749 1 3TH S F =T fen Se df 9o & 3t st= § -9 3 2 2
(A) 9 (B) 2 © 7 (D) 8

126.

126.

126.

126.

126.

Raj has to catch a train at fifteen minutes past three in the afternoon. What would be the time on
a 24-hours scale ?

(A) 03:15 hours (B) 15:15 hours (C) 13:15 hours (D) 23:15 hours

3ice fwfer fof afer cotrga it am @ =9TST 71 a9l MR | 24 - TFR TEH2I© €2 37 F 29 2
(A) 03:15 7] (B) 15:15 ¥<DI (C) 13:15 =1 (D) 23:15 5]

A [ee foa61 (@0e 2t NG G €908 A | 24 - 961 o ANT6! BT 2 2
(A) 03:15 9ol (B) 15:15 9o (C) 13:15 wo= (D) 23:15 9o

g 3 fegT fen faftera Tt Iermet TREreAT | 2451 Haars 99T S&di S 2
(A)  03:15 5= (B) 15:15 W= (C) 13:15 &= (D) 23:15 W=

ST 1 QI A ot Ugg THE W 39 Ushe! €124 ¥ & 9 T T8I 941 8 2
(A) 03:15 ot (B) 15:15 &1 (C) 13:15 & (D) 23:15 &

Paper-1/ A 63 P.T.O.



127.

127.

127.

If 9 < x2 < 25, then the correct value/values of x is/are :

(A) 3,4,5 (B) 4,5 (C) 3,4 (D) 4

M 9 < x2 < 25, (O[T x T W& AN / NPT (20T —
(A) 3,4,5 (B) 4,5 (C) 3,4 (D) 4

T 9 < 2 < 25 T, O@ x -7 WG S (S 2
(A) 3,4,5 (B) 4,5 Q) 3,4 (D) 4

127. S99 < x2 < 25 S, 3T&el x T IR 9 / AFSR :
(A) 3,4,5 (B) 4,5 (C) 3,4 (D) 4

127. afe9<x2<25 A x F IS A © :
(A) 3,4,5 (B) 4,5 C) 3,4 (D) 4

128. What would be the middlemost digit in the smallest number that can be made using all the digits
of 8936217 ?
(A) 3 (B) 6 < 7 (D) 9

128. 8936217 FRJTBIF SRFCHLG! IS FI 91091 FIR ) JJeTow TG 35 GHNIGTS (It O w2
(A) 3 (B) 6 < 7 (D) 9

128. 8936217 €3 ANS IF IR IR AT Faew 7 5F Te% wEF’ I I 2
(A) 3 (B) 6 < 7 (D) 9

128. 8936217 1 T YRFSHIRRGE! @M SFI 2F/ SafgE geiam sHfamT 5] armE o |EfsrTen o1 2
(A) 3 (B) 6 < 7 (D) 9

128. 8936217 & Tt 3Tkl hT SUANT THich o5 S Il Tod Bl & 1 HEITH 3k 91 B ?

(A) 3 (B) 6 C) 7 (D) 9
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129.

129.

129.

Lohit walks from Black to Pink, which are 9 meters apart. At Pink, he takes a right turn and walks
4 meters to Blue. He takes another right turn and walks a distance of 9 meters to Red. At Red he
takes a left turn and walks 2 meters. How far is Lohit away from Black ?

(A) 4 meters (B) 13 meters (C) 22 meters (D) 6 meters

(FTECS @ B #1919 RoR yage 4 2153 e (AT TR | #9153 e (0€ (IRITe 903 o= 4 No=
ISR F B A9 | 3® (908 771 FIRICS Y@ o= 9 WoF (T ([ BH 2| ([{C Fe (08
GO (S B 2 WOF (S DD | (IS Gfeoxl @@ gee 791 e e e 2

(A) 4 TOR (B) 13 fSiol= (C) 22 TioF (D) 6 o=

@I G (A0S I e 20, TR 7aw 9 fow | P21iee o1 o faces e 10 @3k 4 SR &6 0@ 5
IR | (T SRR THMCE (IS T2 93 9 FlBR 777 (206 @S (o1 | (@ (0F (7 A0 (G (17 3% 2 S5
T | (RS @F (AT T 0 R ?

(A) 4 RTR (B) 13 To® (C) 22 ™ow (D) 6 o™

129. fea sorepfwr fisfam 9 fier ememi | fiskra foet sttt fifdam 4 firer ememA™ sqema e | fo=i
SARYere Srere ffAm 9 frer Yefem ememl | Yere forel strfafel fifdm 2 frer emem | efifear sk
Y TS e ?
(A) 4 R (B) 13 feRr (C) 22 fAer (D) 6 fHer

129. ciifed =i & fish e =reran § S 9 e &l g8 W § | i W 97 ¢ g © 37K & i AR 4 HeX = |
I8 T IR TR 3 G © IR ¥ q 9 Hiet &t T 79 el § 1 38 W 98 o1t 7R gt © 31 2 Hiex Jern
T | Siifed =t & forat WE?
(A) 4 HX (B) 13 HIX (C) 22 HiX (D) 6 HieX

130. Identify the word with no pair of consecutive letters placed together.
(A) Alphabet (B) Partner (€) Rightness (D) Station

130. (I R T 3 GTF0el 9 =051 forie 35 |
(A) Alphabet (B) Partner (C) Rightness (D) Station

130. (I GFCEG! G 39 AN sRfEe T =@t Bize ww |
(A) Alphabet (B) Partner (€) Rightness (D) Station

130. TR 9 Hiererel SR Wi emn g e 2
(A) Alphabet (B) Partner (C) Rightness (D) Station

130. 39 U i Ig9M i TSHH AR 7R &1 i Siel Teh 9 7 3@ T3 |

(A) Alphabet (B) Partner (©) Rightness (D) Station
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131. If A=26, B=25, and so on till Z=1, then what would be the sum of STAR ?
(A) 32 (B) 67 (€ 50 (D) 55

131. T A =26, B=25, 5% Grwd SN[ (o Z=1 T, (50T STAR I 5 (iaizre] fFalley 292
(A) 32 (B) 67 (C) 50 (D) 55

131. M A =26, B=25, €32 O39I(d USF Z=1 T, O@ STAR 3 (5] 9 Z(J ?
(A) 32 (B) 67 (C) 50 (D) 55

131. Sfc A=26, B=259Mfc Z=1 99 STems], 37ee STAR T SSTerm&an s S ?
(A) 32 (B) 67 () 50 (D) 55

131. I A=26, B=25, 3T 3T Z=1 I 31 TR &, I STAR T TN 1 81T 2
(A) 32 (B) 67 (C) 50 (D) 55

132. Which of the following is NOT of the same set ?
(A) Cash Payment (B) Mobile Banking
(C) Debit Card (D) Net Banking

S N ey

132. =R T2g FEGH 9 65 TUeE w27 2

(A) T sAf{Teg (B) CRIZE (A<
(O (oiRGaIe (D) &6 @R
132. % TElRe @b @ (P T 2
(A)  =oIt7 B ewis (B)  GIRIZe FyigiaRe
Q) (SRTIE (D) 6 AR
132. TRMEMA Jo=7 TE YR TT?
(A) e T ST BAE (B) TeTEH Sifeh
(C) <fae &R (D) e difsh
132. frefafead § @ F o1t & 99g 1 TE § ?
(A) hE YAH (B) HemEd S
C) <foe wre (D) = dfhm
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133. Identify the word which cannot be made from CARBOHYDRATE.
(A) AHEAD (B) RETRO (©) YACHT (D) HYPER

133. CARBOHYDRATE F I3} 91234 SR 1R 775! e 355 |
(A) AHEAD (B) RETRO (C) YACHT (D) HYPER

133. (I %776 CARBOHYDRATE (2 (o<l 1 T =1 ©f fofzre e |
(A) AHEAD (B) RETRO (C) YACHT (D) HYPER

133. TEAM e GeeE CARBOHYDRATE fwe fegamt gmn ?
(A) AHEAD (B) RETRO (C) YACHT (D) HYPER

133. 3 ¥ ol 989, St CARBOHYDRATE ¥ -&l o=/ ST Hehdl |
(A) AHEAD (B) RETRO (C) YACHT (D) HYPER

134. Which of the four given sequences would be meaningful for the words ?

1. House 2. Street 3. Room 4. Town 5. District
(A) 3,1,2,4,5 (B) 5,4,1,3,2
(C) 31,425 (D) 5,4,3,1,2

134. 1. = 2. IW| 3. @ 4. 99 5. fem
G2 WL A AT TP (FCH] T T2 2T ?
(A) 3,1,2,4,5 (B) 5,4,1,3,2
(C) 31,425 (D) 5,4,3,1,2

134. 27e BTG SR N (A TSR G Sl 23 2
1. e 2. AW 3. T 4. =R 5. (S
(A) 3,1,2,4,5 (B) 5,4,1,3,2
(C) 31,425 (D) 5,4,3,1,2

134. TREM o SAE WA 2FF GelahRE! 1% TH Qe i ?
1. A 2. oM 3. @'d 4, IR 5. e
(A) 3,1,2,4,5 (B) 5,4,1,3,2
(C) 31,425 (D) 5,4,3,1,2

134. fSU T =R o/ hHl | | -1 27 v & fore wefes gnm 2
1. = 2. 9USH 3. &EU 4. TH 5. fSen
(A) 3,1,2,4,5 (B) 5,4,1,3,2
(C) 3,1,4,25 (D) 5,4,3,1,2
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135. If the code for WATER is 67 and for DRINK is 56, then the code for RIVER is :
(A) 48 (B) 98 Q) 72 (D) 35
135. AW WATER & FTAL 67 SN DRINK F @ T A2 56 T, (908 RIVER F IE T F22A (202 8
(A) 48 (B) 98 Q) 72 (D) 35
135. M WATER &3 T 9 7 67 €2 DRINK €9 o) T 56, O3 RIVER @9 HUFS 2 &
(A) 48 (B) 98 (Q 72 (D) 35
135. WATER 7 %21 67, DRINK &1 56, RIVER T el -
(A) 48 (B) 98 Q) 72 (D) 35
135. Ife WATER & fat i€ 67 € 3R DRINK & f&Tu 56 &, @1 RIVER & fa@ =7e © :
(A) 48 (B) 98 Q) 72 (D) 35
-00o0-
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